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BBEJIEHHE

VYBaxaemblii nperengenr!

PTKIT «HaunoHanbHe LEHTP TeCTMPOBAHHM» MHHACTEPCTBA 0GPA3OBAHMA U
Haykd Pecrnybmuxu Kazaxcran npennaraer yueGHo-MeTomudeckoe nocobue s
DOArOTOBKH K BCTYIHTENBHEIM JK3aMEHaM B MAarHCTPaTypy, AOKTOPaHTYpY,
PE3UASHTYPY, AXBIORKTYPY IO aHITTMHACKOMY S3IKY.

1. Tect no aBrmuiickoMy SI3bIKY COCTOHT U3 3-X 61I0KOB:

Bbaok I - Caymanne rexcra ¢ CD gucka

B naugeii 670K BXOAWT OPOCITYIIMBAHHE &YAUOTEKCTOB M BEIIONHEHHe 20
TECTOBBIX  3amamuil. Kaxnueli aynwomarepuwan 3anmucad jsykpato. Ilocne
IPOCTYIIMBAHHAA KKIOrO TEKCTa MaéTcs BPeMs Ha BBIIOIHEHHE NPEIONKEHHBIX K
HEMY NATH TECTOBBIX 3a/3HHUI.

baok I —JlekcHko-rpaMmMaTHYeCKHi TecT

Jlexcuko-rpaMMaTHdeckuil  Tect  comepkuT 50 TEcTOBBIX 3afaHu.
Copeprxanne NpeanaraeMeix TECTOB JAET BO3BMOXHOCTH NPOBEPHTE YPOBEHb 3HAHHUI
0O A3SHIKOBBIM ~ HOpMaM  (JIEKCHHYECKHM,  IPAMMATHYECKHM),  YCBOGHHe
JIHHBHCTHYECKHX TOHATHI (poneTHuecKux, NEKCHKONOTHYECKHUX,
rpaMMaTUYECKUX), BIafeHHe crioco0aMu AeHCTBHS IPH aHAIN3E S3BIKOBBIX ABJICHUI,

Baoxk III - Ytenne.

B naunwiii 6nok BxoanT 4 Texcta u Bhinosinenue 30 TecToBbIX 3amanuii. [ocse
POYTEHUs KOKAOrO TeKCTa Aa€TCs BPeMA Ha BhINOTHEHHE NPEUIOXKEHHBIX K HEMY
TECTOBBIX 33/{aHHH.

2. Kaxnoe 3ananme tpeOGyerT BHOOpa OAHOrO NPaBHILHOrO OTBETa M3 5
TPEVIOKEHHBIX BAPHAHTOB.

3. TecToBble 3a/iaHus NPEIIOKEHE! IO TPEM YDOBHAM CIOXHOCTH: A- Jlerkye,
B — cpeanne, C — cnoxHele.

4. Jina caMONpOBEPKM cHefyeT OOpaTHTBCH K IIPHNOIKEHHLIM  KOAAM
[IPaBRIBHBIX OTBETOB B 3AKTIOYUTENBHOM YaCTH TOCO0HA.



Hucrpykuns

0 HCNONB30BAHHIO a8y THOAHCKOB UL TOATOTOBKH K BCTYTIHTE/ILHBIM 3K3aMeHaM

B MarucTpaTypy, AOKTOPAHTYPY, PE3HACHTYPY, allbIOHYKTYPY IO HHOCTPaHHBIM
A3BIKAM

Ha ayauomuck 3ammcans: 8 TEKCTOB Mo aHINIMACKOMY s3biky (4 TekcTta mua 1-
2 BapHaHTOB, 4 TEKCTa W14 3-4 BapHaHTOB). 3ByK B hopmare MP3.

HOpHIlOK NPOCITYIIABAHHSA TEKCTOB HA ayIMOAHCKE:

I-1IX BapuanTbi:
1. MysbikaneHBIH cHTHAT (B HaYale NEPBOIO TEKCTa).
Texet Nel- nipocaymMBaeTcs ABAK/IEL.
. Maysa x Tekcry Nel (Bpems Ha BLINO/IHGHHE TECTOBBIX 3ajaHMii TOX
HomepamH 1-5)
Texcr Ne2- mpociymuBaeTes asamapl.
5. HNayza k Texcty No2 {(BpeMs Ha BLIIOJNHEHHE
Homepamu 6-10)
. Texct Ne3- mpocymuiBaerca IBaXIEL.
7. Tlaysa x TexcTy Ne3 (Bpems Ha BHINIONHEHWE
Homepamy 11-15)
8. Tekcr Ned- pocnymMBaeTCs ABAOKIDL.
9. Maysa x Ttexcty Ne4 (Bpema Ha BhINONHEeHue
HoMepamu 16-20).
10. IJo okoHYaHUK BPEMEHH NPO3BYYHT 3BYKOBOI CHIHAM O 3aBEpINEHHH TecTa
Ha CIyIuaHue,
HI-IY sapuanTi:

Wb

>

TECTOBBIX 3a7aHul moj

(=)

TECTOBHIX 3afiaHuMi mnopg

TECTOBBIX 3alaHWii nox

11.My3bixanbusiii curnan (B Havase LIepBOro TEKCTa).

12.Texcr Nel- npocnyiBaercs nsaxis:.

13.1Taysa x Texcry Nel (Bpems wa BhmOnHeHHe
nomepamy 1-5)

14.Texer Ne2- npocnymusaercs JBaOK/IBI.

15.1Tayza k Ttexcty Ne2 (Bpems na BbIIONHEHHe
HoMepam¥ 6-10)

16.Texet Ne3- mpocnymiueaercs qpaxpy.

17.0laysa x Ttexcry Ne3 (spemss Ha BHIMONHeHMe TECTOBLIX 3aJauuit noj
HoMepamu 11-15)

TECTOBBIX 3amaHwii nox

TECTOBBIX 3a4aHuii r1ox

18. Texct Ned- mpocnyiunBaeTcs apaxt.

19.Tlaysa x Texcry Ned (mpems na BBINONIHEHUE TECTOBBIX 3amammil mog
HoMepaMu 16-20).

20. ITo oxoHYaHHH BpEMeHH TIPOIBYUMT 3BYKOBOH CUI'Hall O 3aBepIleHNH TecTa
Ha ClIyHiaHHe.

Ilepen npocirymusanuem rexcron BHHMATENALHO NPOYHTaiiTe HHCTPYKuHIO!
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Crnennduxauns recra
1. Hazsanse Tecra:
TecT 1o MUCIMINHHE « AHTTHACKHA 3510
2. llean:
Tect paspaboTan 4g MpoBeAEHHA BCTYMMTEIBHOTO DK3aMeHa B MaracTpaTrypy mo
JMCIAIUTHE «AHTTHACKHH A3BIK» OplaHM3alMii BhICIIEro ApodECCHOHATBHOTO
obpazosanus Pecny6anku Kasaxcran.
3. 3apaua:

Onperiesienrie  HOMEHKJIATYDH! SA3BIKOBBIX SBICHHMH (JIEKCHYECKHX SHHHHIL,
dopMyit pedeBoro obImeHus, rpaMMaTHIecKuX GopM 1 KOHCTPYKIHH), TEMATHKH
TEKCTOB [ YTEHHS M ay[MPOBAHHA TEPEYHs OCHOBHEIX YMEHHIA H HABBIKOB
HHOS3BIYHOTO OOIIeH S, YPOBEHb CHOPMUPOBAHHOCTH 110 HITTHHCKOMY A3BIKY.

4. Copepxkanne recra:

KommnnekcHbii TECT onpezenser YPOBEHE copMIpOBaHHOCTH
KOMMYHHKATABHBIX YMERHH CITYIIAHHA H YTEHUS, & Takxke OpOPMICHHOCTH PedH
(JIeKCHKO-rpaMMaTHYeCKHil TeCT). B TeCT BKTIOYEH MaTepuan Mo MHUCLHILIAHE
«AHTEACKHH S3BIK» [10 CAEAYIOIIHM PasaeiaM:

Temsl, nogrempl | Coaepxanne
Ayauposanne

Ha CD 3anmcaHsl TEKCTHI

IlpoBepseTcs ypOBEHb BOCIPUATHSA M NOHUMAHHE HHOS3BIYHOM DEYH B 3alMCH Ha
CilyX, a TakKe I706afbHOe H AETATbHOE MOHMMAaHHE [POCTYIIAHHOrO TeKCTa ¢
ONOpOH Ha HU3YYeHHEIH s3bIKOBOH MaTepuan, QOHOBbIE CTpaHOBENYECKHE H
IPOQECCHOHAIbHBIE 3HAHWA, HABBIKM S3LIKOBOM W KOHTEKCTYyalbHON JOTAazKH,
YMEHNE ONPEJICTHTE TEMY, HACI0 TEKCTA.

Yenosex 4 ero Poncreennsie cBa3y. CeMbs ¥ HEHHOCTH CeMeHHOM KU3HU.
OKpyXeHUe Hpysea. Jiom. Ilpodeccus. PaGora. Ilyremecrsus.
Hunycrpus oraeixa. Jocyr. HTepecs: ypiaeuenus. Xo66u.
CHopT ¥ CIOPTHBHAA XKU3Hb.

O6paszoBanue 1 Yuupepcuter. Conmonorns ofipazoranng. Tranumun
Hayka o0pa3oBaHHsi B CTpaHaX H3y4aeMoro s3slKka 1 Kazaxcrana.

bubanorexa. Hayunas paGota. Jlesrenn Hayxu. Buorpadus.
Jkosoruyeckas KynbTypa. TexHnueckuii nporpecc u
riaobanpHBie MpobieMH YenoBedecTna.
ﬁaxcraﬂ U I'eorpaguueckoe nonoxenue. [lorona u KimMar.
cTpaHa OkoHomuika. O6pa3s KU3HK, HAHOHANIbHbIE CTEPEOTHITH H
3y9aeMOro s3bIka | IPA3IHHIKH. Tpamuuun u UEHHOCTH. S3bIk w1 KynabTYpA.
Hcropus. Ilonutaueckoe ycrpoiictso rocynapersa. Cromua
U ropozia. ApXHTEKTYPa ¥ CTPOHTEILCTRO.
Cpencrsa MaccoBoi MHpOpMalHK.
KomMynukatuHO- | KOMMYHHMKATHBHO-TIOBEAEHYECKHE CTAHAPTH NOBEHCHHA,
OpHEHTHPOBAHHBIC Cutyanus, CBA3aHHEIE C COLHANBHO-OBITOBOH cdhepoii
CHTYALHE OOLICHHUS.
CuTyanun, CsA3aHHBIE C COUMANBHO-KYIETYPHBIMH HOPMAMHK
MOBEACHUS.




Caryainu, CBA3aHHEIE C COIHANBHO-TIONNTIYECKOH cdepoit
obmeHns.
CuTyanus, CBI3aHHBIE C BAYYHO-TIpoeccCHOHANBHONH U
TPOW3BOACTBEHHON cepaMH 0OIECHUAME.
JlekcHKO-TpaMMaTHYeCKHH TecT
Iposepsiercs yposeHe BiajeHds Haubonee ynoTpeGurensHoil (6a3oBoit)
rpaMMAaTHKOW H OCHOBHBIMHM IDaMMaTHYECKNMH ABNICHUAMH, 3HAHHE 633080}:1
TIEKCHKM a Takke€ OCHOBHYIO TEPMHMHOJOTHIO CBOeH IIMpOKOH M Y3KOH
CTICLHAIBHOCTH.
1. ViMsa cymiecTBuTensHoE.
1.1. | MHOXECTBEHHOE YHCIIO CYIIECTBHTENBHEIX
1.2. | TlpurmxarensHlii ajgex KMEHH CyUIeCTBHTENLHOrO
2. ApTHIUIE (OTIpeIeTIEHHEBIH, BeonpeaeieHHEII)
3. Mecroumenne :
4. YucrurensHoe
5. Tnaron. Bunospemennsle GpopMs! rirarona
5.1. | CornmacoBanue BpeMeH
5.2. | AKTHBHEIH H MAcCHBHLIN 3a/0T.
5.3. | MogaanbHsle rnaroist
5.4. | CtpagatensHbIii 3anor
6 Henwmunsie GopMel raronon
6.1. | Ilpuuacrue
6.2. | Uudpunurus
6.3. | I'epynnmii
7. | Mms Ipunararenshoe
7.1 | Crenenn cpasnenns
8 Hapeune
9. Tlpemioru
10. | Cowoznt
11. | IIpamas u KoceHHas peus l
12. | VYcnomusie npennioxenns
13. | Caoxssie nipeioxKeHuas
14. | CnoBooGpa3zosanke. MexaHH3MB! CIOBOOGDA3ORAHHSL. T
15. Jlexcuueckn gBneHus. AHTOHHMEL, CHUHOHUMEL, OMOHKHMBI.
15.1 Crunucruyeckuii HEHUTpaTbHas TEKCHKA, OTHOCALIANCS K obmemy
S3BIKY.
15.2 | OcHOBHBIE TEPMHHBI LIMPOKOH CIIELHANBHOCTH. Obwenayunas nexcuka.
15.3 CoueraemocTs ciios. Henpuomarnyeckasn (norugeckasn) u
MIMOMaTHYECKas COYETAEMOCTh CIOB.
15.4 YcroiuuBsie Bipaxenus: Hanbolee PacnpoCTpaHeHHbIE Pa3rOBOPHEIE
N bopMyneI-KiHILe.
16. | lNopsnok cioB B npensioxkeHnu T
17. | Crpanosenenue
18. | CormacurensHoe HAKIOHEHHE. B




Yreuue

IMpennaraercs 4 Texcra

NOCHCAOBATEABHOCTD.

ilenpio npencrapieHHBIX TECTOBHX 3aJaHMH I YTCHHS ABIAETICH: M3BICYCHHE
saflanHoro obbeMa HH(pODMauHH, IOHHMAaHHE COJEPXKAHMA Pa3HO JKAHPOBHIX
TEKCTOB, B TOM UYHCHe MyOIHIMCTHYECKHMX CTaTtel, yCTAaHABIHBATEH HX JIOTHYECKYIO

CIIOPTHBHAA XKH3Hb.

Poxacteennsie cBa3H. CeMbs ¥ HEeHHOCTH CEMEHHOM M M3HU.
Yenosex # ero| dpysss. Hom. ITpodeccus. Pabora. [Tyrentectsus. Mugyctpus
okpyxenre | oTabxa. Jlocyr. Mutepecs! yBreuenus. Xo66u. Criopr u

O6pazoBanne
1 Hayka

geJoBeYecTBa.

Vuusepeuret. Conmonorns obpazopanns. Tpamunuu oGpazosanus
B CTpaHax H3y4aeMmoro s3pika 1 Kaszaxcrana. budmuorexa.
Hayunas pabora. [lesrenu Hayku. buorpadus. Dxonorudeckas
Kyasrypa. TexHudeckuit nporpecc ¥ riobansHsle npoGaeMs

A3BIKA ApPXHTEKTYpa H CTPOHTENECTRO.
Cpencrsa MaccoBoit BH(OpMaUUH.

Teorpaduyeckoe nonoxenwe. [oroga n knuMar. DkoHOMUKA.

Kasaxcran ¥ | O6pa3 ku3HH, HAHHOHAIBLHBIC CTEPEOTHITH H NIPa3IHUKH.
CTpana Tpanunuu ¥ HeHHoCTH. S3BIK ¥ KynsTypa. Metopus.

n3ysaeMoro | ITonHTHueckoe yeTpoHcTBO rocyaapctsa. Croinua u ropoza.

KoMMyHHKATH
EHO-
OpHEHTHPOBaH
HEBIE CHTYaIlM|

TIOBEACHMA.

KoMMYHHKATHBHO-TIOBEICHUECKHIE CTAHIAPTH! TIOBESACHHUA.
Curyawn, CBA33HHBIE C COLHATBHO-GBiTOBO cepoil obiuerns.
CuTyaliMu, CBA3aHHbIE C COIMANBHO-KY AFTYPHBIMU HOPMaMH

CuTyanu, CBA3aHHbIe ¢ COMANBRO-TIONHTHYECKOH chepoii
o6menns. CUTyauyy, CBI3aHHELIE C HAYIHO-TPO(ECCHOHATLHON M
NPOK3BO/ICTBEHHOH ChEpaMu ODIEHHAMH.

5. ILnan recra:

1. Cnymange — 20 TecTOBBIX 3afaiui (0 5 K XaXXa0oMy TekcTy). K 3anavam
cpeaHeit TpyAHOCTH oTHOCATCA 10 3alaHui, K JIerKuM — 5 3alaHul, K

-
TPYZHBEIM — 5 33/IaHUA.

2. JIeKCHKO-TpaMMaTHIeCKHH TeCT - S0 TectoBeIx 3ananuii. K 3agatam cpenuei
Tpy/HOCTH otHOCsTeA 30 3aaHuH, K nerkeM — 10 3amanni, K TpyaHeM — 10

3alanuii.

Tembt | Conepxanye

-
Konuuecrno 3ananuit
B OJHOM BapHaHTe

Henuyuslie HOpMEI Ii1aroos

1. Himsi cyuiecTBHTEIbHOE 3
2. ApTHKIb 3
3. MecrouMeHue 3
4, YuicnurtelbHOE 3
5. I'naron 3
6 3
7. 3

ViMa npunarareistoe. CTeNeHH CpaBHEHHS .

7




8. Hapeyue 3
9. TTpensoru 3
10. Coro3b1 3
11. [ [psamas u KocseHHas peds 3
12. | YcnoBable ipeANOKeHHs 3
13. CrioXHBie TIpeUIOKEHHA 3
CrosooGpaszoBagne. MexaHH3MBI
14. €IOBOODPa3OBaHHL, 3
JlekcH4eCcKH SBiIeHUS. AHTOHUMEI,
1. CHHOHMMBI, OMOHHMBI. 2
16. TIopaoK CIOB B HPELIOXKCHAH 2
17. Crpanosenenne 2
| 18. CornacurensHoe HaKIOHeHe. 2
1[ Beero 50

3. Yrenne - 30 recToBblx 3amanni. K 3agauam cpexnet TpyIHOCTH oTHOCSTCA - 14
3aaHuH, K TeTkuM — 8 3anaHuii, K TpYIHbIM — 8 3afaHui.

6. XapaKTepucTHKA CONEPIKAHNS 3aaHNii:

TectoBrle 3aanHd A/ MPOBENECHHA BCTYIHATENLHBIX IK32MEHOB B MarucTparypy
10 aHITHUACKOMY S3BIKY I1I03BOJSIOT ONPENENNTh YPOBEHB KOMMYHWKaTHBHOH
KOMIETEHIMH TECTHPYEMOTO, a MMEHHO NpPOBEPSIOT HABHIKH Ay[MPOBAHHMA,
YPOBEHb BNAJEHHs TPAMMATHKOM, JIEKCHKOM AHTNHICKOrO s3BIKA, HAaBBIKH M

YMEHHS YTEHHS C HENBI0 U3BNeUeHN TpebyeMoii nubopMarym.

7. XapaKkTepHCTHKA OTBETOB K KRXAOMY 3a12HHIO:
Bce 3ananuns npefcTaBICHE B 3aKphITO# popMe.
Kaxnoe 3anauve umeeT eMHCTBEHHO NPABWIbHBIA BapHaHT oTBeTa, KOTOPBIH
COOTHOCHTCS C THCTPAKTOPHBIMA (IIPOBOLHMPYIOIMMH) BAPHAHTAMH OTBETOB.

8. HHCTPYKIIHA K TecTy:

BI:I60p ONHOTO OTBETA U3 MATH NPEIUIONKEHHBIX.

HHCI‘p}’KllHXZ 32KPACHTD KPYKOK C BAPHAHTOM [IPaBHJIBHOTO OTBETA.

9. Bpemst BHINOJIHEHHS TECTA:

O61ee BpeMs BHITONHEHHUS Beero Tecta — 180 MHHYT.
Bpewmst BHITONHEHHS TECTA Ha CyIakKe — 45 MuHyT.

BpeMs BbINOIHEHHS IEKCHKO-IPaMMAaTHYECKOTO TecTa — 75 MHHYT.
Bpems BEIONIHEHHA TECTa Ha YTeHHe — 60 MUHYT.

Cpentee BpeMs BHITIONHEHAS OQHOTO 3alalus; 1-2 MHHYTHI.
Kosnnuectso 3anannit B onHoM Bapuante Tecta — 100 3ananuii,




10. OueHsKn 32 Bpili0JIHEHHE 3aAHHI:
3a Kax (eIl NPABWILHEIM OTBET NpUCykaaeTcs | 6ann, Bo Bcex OCTanbHBIX
cay4asx — 0.

11. OnpenensieMble XapaKTePHCTHKY Ka4ecTsa 3aJaHuii:
Onpexensercst TPYAHOCTE 3aaHull B %o IPaBIIBHELIX OTBETOB.

12. OxujaeMble pe3yabTaThi TECTOBBIX 3aJanuii:
HopMaTHBHO-OPHEHTHPOBAaHHAS HHTEPIPETALMA [IPH KOHKYPCHOM 0T6OopE.



Bapwant 1 Cirywanue

Caymanne

Text 1

1. How many students did in the thirty-cighth International Physics Olympiad
compete?
A) More than four hundred
B) More than six hundred
C) More than three hundred
D) More than five hundred
E) Three hundred

2. How old was the president of the International Physics Olympiad?
A) sixty-seven years old
B) fifty-seven years old
C) sixty-four years old
D) sixty-five years old
E) sixty-two years old

3. When did the thirty-eighth International Physics Olympiad take place?
A) last semester

B} two months ago
C) last year

D) last week

E) last month

4. Where did the thirty-eighth International Physics Olympiad take place?
A) in Moscow

B) in Iran
C) in Sudan
D) in Italy
E) in Paris

5. How many countries did in the Olympiad participate?
A) seventy-seven
B) seventy-three
C) seventy-one
D) seventy-five
E) seventy-four
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Bapuaut | Crymarue

Text2

6. And if you have a question, send itto ... .

A) special@voanews.com.
B) social@voanews.com.

C) special@nfb.com.
D) special@nfb.org.

E) blind@voanews.com.

7. What does S.A. Ogunlowo in [ie-Ife want to know?

A) S.A. Ogunlowo in Ile-Ife wants to know if visually impaired foreign
students can get a partial scholarship as an undergraduate.

B) S.A. Ogunlowo in lle-Ife wants to know if physically impaired foreign
students can get a full scholarship as an undergraduate.

C) S.A. Oguniowo in Ile-Ife wants to know if visually impaired american
students can get a full scholarship as an undergraduate.

D) S.A. Ogunlowo in Iie-Ife wants to know if foreign students can get a full
scholarship as an undergraduate.

E) S.A. Ogunlowo in Ile-Ife wants to know if visually impaired foreign
students can get a full scholarship as an undergraduate.

8. ... it awards scholarships that do not have any citizenship requirements.
A) Once a year
B) Once a month
C) Each year
D) Each month
E} Twice a year

9. What is the Web site of the National Federation of the Blind?
A) voaspecialenglish.org
B) nib.org
C) voaspecialenglish.com
D) fed.org
E) nfb.com

10. At what web site can Foreign Student Series be found?
A) voaspecialenglish.org
B) nfb.org
C) voaspecialenglish.com
D) nfb.com
E) fed.org
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Bapnaur 1 Cnymaxve

Text 3

11. It was built as a "..." school based on requirements from the United States
Green Building Council.
A) white
B) yellow
C) blue

D) green
E) pink

12. Students say the ... rooms help them stay awake during class.
A) sunny
B) light
C) bright
D) white
E) dark

13. And an underground tank can store one miflion seven hundred thousand
liters of rainwater for ... .
A) heating system
B) air conditioning
C) water cycling systems
D) air conditioning and other systems
E) communicating systems

14. The average cost was only ... percent higher compared to a traditional
school.
A)6
B) 5
C)2
D)3
E)4

15. The councilis a ... .
A) nonprofit organization made up of building industry leaders
B) nonprofit organization made up of building business leaders
C) nonprofit organization consist of building industry leaders
D) profit organization made up of building industry leaders
E) nonprofit organization made up of office leaders
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Bapuanr 1 Crymaune

Text 4

16. Who go to summer camp?
A) Volunteers
B) Children
C) Childs
D) Teachers
E) Sportsmen

17. Who has written the VOA Special English Education Report?
A) Mario Ritter
B) Allan Sherman
C) Bob Doughty
D) Mike O’Neil
E) Erin Braswell

18. Also, children can learn how to make ... .
A) cartoons
B) programs
C) movies
D) Web sites
E) e-mail address

19. During what period has the number of day camps in the United States grown?
A) In the past ten years
B) In the future twenty years
C) In the past fifteen years
D) In the past twenty years
E} In the past five years

20. How many persent has the number of day camps int the United States grown?
A) by almost 45%
B) by almost 31%
C) by almost 40%
D) by almost 13%
E) by almost 90%

TECT IO BJIOKY

Caywanse
3ABEPHIEH
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Bapwuant 1 Jlexcuxo-rpaMMaTIIeCKiit TCCT

Jlexcnko-rpaMMaTRUecKR R TecT

21. Find the noun used only in the singular form.
A) Agent.
B) Cup.
C) Tea.
D) Dress.
E) Chair.
22. Choose the right variant:
My father is not only the town mayor, he runs ....., too.
A) business
B) a piece of business
C) any business
D) some business
E) a business
23. “What would you like to eat?” “I don’t mind ... Whatever you have”.
A) somewhat
B) everybody
C) something
D) nothing
E) anything
24. Bomen eme ouH 4eJI0BeK, II0TOM elle.
A) Two men entered then the third
B) Came one more man then one
C) A second man entered, then a third
D) After the two people came one man
E) One man entered, then second
25. Choose the right variant:
"Can [ turn off the TV?" ".. .. t?"
A) Watch they.
B) Do they watch.
C) Are they watching.
D) They are watching.
E) They watch.
26. They never ... to the cinema when they ... in the country.
A)went ... live
B) gone ... lived
C) went ... lived
D) went ... living
E) went ... lives
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27. Choose the right form of the verbs:
...you...TV? - No, you can turn it off.
A) Have ... watch.
B) Are ... watch.
C) Are ... watching.
D) Is ... watching.
E) Do ... watch.
28. Choose the correct answer.
1 a doctor?
A) Am.
B) Were.
C) Are.
D) Been.
E)Is.
29. As if ... him [ turned and stared into his face.
A) obeying
B) has being obeyed
C) has been obeyed
D) being obeying
E) has obeyed
36. He made his money ... and ... houses,
A) on buying ... selling
B) to buying ... selling
C) by buying ... selling
D) with buying ... selling
E) buying ... having selling
31. They wrote because they had to, and ... thought only of what they were going
to write next.
A) have writing
B) being written
C) writing
D) after written
E) having written
32.Ienjoy ..., but [ wouldn’t like ... it all my life.
A) teaching, to do
B) to teach, doing
C) to teach, to do
D) teaching, having done
E) having teaching, doing
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33. Fill in the correct preposition or adverb:
When the monitor entered.... the classroom the students kept silent.
A) Out
B) On
Cyin
D) Into
E)—
34. Choose the correct answer.
She looks passengers.
A) After.
B) In.
C) By.
D) On.
E) To.
35. He3abynxu
A) forget-not-me
B) forget-me-nots
C) not-to forget-me
D) Don’t forget me
} not-forget-mes
36. Fill in the gaps with the correct variant:
... Giant Ape Man, our biggest and probably one of our first human
ancestors, was just about the size of a male gorilla.
A) That is believed
B) It is believed that
C) Believe is
D) That it is
E) That believing
37. Choose the right synonyms to the underlined words

These methods answer our purpose completely.
A) Claim

B) Intention
C) Favor
D) Aim
E) Decision
38. Complete the sentence:
He had a very bad head-ache and decided to go to the ... .
A) Doctor.
B) Worker.
C) Door.
D) Engineer.
E) Barber.
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39. Find the correct word:
The United Kingdom is a constitutional ... .
A) Capital
B) Monarchy.
C) Principality.
D) Position.
E) Ocean.
40. Parliament consists of two chambers:
A) the House of Lords and House of Commons
B) the House of Bishops and the House of Lords
C) the House of Commons and the Congressmen
D) the House of Peers and House of Commons
E) the House of Justice and the House of Commons
41. Find the nouns used only in the plural form.
A) Goose, scales, tooth.
B) Scissors, goose, trousers.
C) News, goose, scales.
D) Scissors, scales, trousers.
E) News, goose, tooth.
42. Choose the right answer. My watch is ... minutes fast.
A) Ten
B) Fifth
C) The ninth
D) A third
E) The tenth
43. Choose the right variant:
Supply the preper degree of comparison. My car is than yours.
A) More fast
B) Very fast
C) Faster
D) Most fastest
E) Not fastest
44. Choose the correct variant
Something has gone ... with my iron.
A) Right
B) Worse
C) Wrong
D) Short
E) Not right
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45, Choose the right variant:
The ... produced at our factory in Scotland.
A) good is
B) good are
C) goods are
D) good is
E) a goods are
46, Choose the right variant:
Many chemicals react ... in acid solutions.
A) More quick.
B) As quickly more.
C) Quicklier.
D) More quickly.
E) As quickly as.
47. Choose the right variant:
What about the weather? — Well, it was fairly ...
A) Most good.
B) Good.
C) Better.
D) Best.
E) More good.
48. Choose the right variant:
Our holiday was too short — the time went ...
A) Quicker.
B) Quickliest.
C) More quickly.
D) Quickly.
E) The most quickly.
49. Choose the right variant:
There’s ... use in complaining. They probably won’t do anything about it.
A) a little
B)afew
C) little
D) few
E) much
50. Choose the suitable preposition:
This report is ... great value for my scientific research.
A) of
B) for
C) with
D) after
E)in
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51. Find the incorrect variant:
He isn’t driving to the convention in March and neither they are.
A) Neither they are
B) Driving
C) In March
D) To
E) The
52. Yesterday our teacher asked us, “Do you read much?”
A) Yesterday our teacher asks if we read much
B) Yesterday our teacher talked us if we read much
C) Yesterday our teacher told us if we read much
D) Yesterday our teacher asking us if you read much
E) Yesterday our teacher asked us if we read much
53. Choose the correct variant of prefix:
Her shyness was a ... advantage in a company.
A)Im-,
B) Anti-.
C) Ir-.
D) Un -.
E) Dis-.
54. Choose the correct variant:
California relies heavily on income from fruit crops, and _
A) Neither Florida does.
B) Florida is as well.
C) Florida also.
D) Florida too.
E) So does Florida.
55. Choose the right answer:
Kazakhstan borders on ... .
A) Russia and Georgia.
B) Russia and China.
C) Kirghizia and Iran.
D) Uzbekistan and Mongolia.
E) China and Mongolia.
56. Make the right choice:
... Statue of Liberty was ... gift of ... friendship from ... France to ... United
States.
AYThe/a/l-/ -/ the.
B)A/-/-/the/the.
C) The / the/ the/ - /the .
D) The / a/ the / the / the.
E)-/a/-/the/-
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57. Choose the right word:
The student spoke English _____ badly that the teacher couldn’t give him
even a satisfactory mark.
A) Many
B} Any
C) Such
D) Some
E) So
58. Supply the correct auxiliary verb. How ___ you spend your summer
vacations last year?
A)ls
B) Does
C) Are
D) Do
E) Did
59. Choose the right variant:
1 didn’t like it in the city at first. But now ... here.
A) was used to.
B) 'm used to living.
C) 1 got used.
D) I used to living.
E) I used to live.
60. Choose the suitable variant:
She looks ....in her new hat.
A) Niceful
B) Nicely
C) Niceless
Dj Nice
E) Nicly
61. Choose the correct variant:
I like working with computers.
A) Neither don’t 1.
B) Soam L
C) Neither 1 like.
D) Sodol
E) Neither do 1.
62. Choose the correct variant:
1 asked him ....
A) Don’t go away.
B) Go not away.
C) To go not away.
D) To not go away.
E) Not to go away.
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63. Choose the right variant:
Ifit ... rain we ... to the forest to gather some mushrooms.
A) To be not / go.
B) Isn’t / went.
C) Will not / will go.
D) Is not / shall go.
E) Does not / will go.
64. Choose the right variant:
IfI...abird,I... away.
A) Has been/would have flown.
B) Were/would fly.
C) Am/would fly.
D) Will be/will fly.
E) Will be/would fly.
65. Identify the part of speech of the underlined pronoun:
He scored a goal and we all cheered him.
* A) Object.
B) Adjective.
C) Adverbial modifier.
D) Subject.
E) Predicate.
66. Choose the correct answer:
He promised he would return the book as scon as he ... .
A) would read
B) had read
C) will read
D) has read
E) should read
67. Choose the synonym to the following word: to bring
A) To start.
B) To cook.
C) To fetch,
D) To prepare.
E) To be through with.
68. Form a sentence using these words: and (1) his {2) Asanov (3) their (4) friends
(5) weekend (6) enjoyed (7)
much (8) very (9)
A) 8/3/5/1/7/2/6/8/9
B) 2/4/5/8//1/3/7/6/9
C) 9/8/6/5/7/3/1/4/2
D) 3/1/2/5/7/4/6/9/8
E) 2/5/9/7/8//6/4/3/1
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69. Choose the right translation:
Bam 051 Tydine ocTaThcs [oMa.
A) You had better to stay at home
B) You should better stay at home
C) You would better stay at home.
D) You had better stay at home
E) You have better stay at home
70. Choose the right variant:
In your place I ... on the immediate arranging of these measures.
A) Had not insisted.
B) Didn’t insist.
C) Not insist.
D) Wouldn’t insist.
E) Have not insisted.

TECT 0O BJIOKY
JexcHKo-rpaMMaTiYeCKHii TecT
SABEPUIEH
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Yreune
Ocean Liners

The millions of people who cross the Atlantic every year usually do so by
jet. These planes are fast, safe, and convenient. But in the past, virtually all
Atlanﬂc travelers took ships:.-The first ocean liners were primitive. On early
19™-century sailing ships, cabins were cold and wet. Food was fresh only on
the first day, and the passengers suffered constantly from the condition Charles
Dickens called “not ill, but going to be”. Some were going to be worse than ill.
In those days, one out of six sailing ships crossing the Atlantic sank. Ocean
Notes for Ladies, published in 1877, advises passengers to dress well because
“a body washed ashore in good clothes would receive more respect”. But by the
end of the 19™ century, along with improved safety came comfort and, in some
cases, luxury. Ocean liners were strictly divided by class. Down below,
hundreds of immigrants were crowded together in steerage — the section having
the poorest accommodations. Up above, first class passengers had private
rooms with marble bathrooms, and they ate in elegant dining rooms.

After World War I, taking the boat to Europe became fashionable and
popular for tourists as well as the rich. Bigger and bigger ships were built that
carried a million tourists a year to Europe. This was the time of the greatest
ocean iiners. They were faster and more comfortable, and they offered food and
luxuries comparable to good hotels. The voyage to Europe was seen as part of
the vacation. Passengers swam, danced, and walked the decks looking for
famous people on board. One passenger wrote about sailing on the French liner
Normandie: “Caviar and paté for dinner yesterday. The whole place is like a
setting for a ballet.”

The Normandie was destroyed by a fire in 1942, and today almost all of
the other great ocean liners are gone, too. They have been put out of business by
jets. Jets are crowded, they aren’t elegant, and they serve mediocre food ~ but
they are fast. Planes cross the Atlantic in six hours instead of six days, and
travelers can’t resist their speed

71. How do the millions of people cross the Atlantic every year?
A) by plane
B) by jet
C) by submarine
D) by ferry
E) by helicopter

72. When was “The Normandie” destroyed?
A)in 1642
B)in 1742
C)in 1842
D) in 1942
E)in 1542
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73. What did all Adantic travelers use in the past?
A) planes
B) hang- gliders
C) ships
D) baloons
E) ferry

74. Which writer describer the condition "not ill, but going to be"?
A) Hathaniel Hathome
B) Charles Dickens
C) Charles Darvin
D) Charly Chaplin
E) Theodore Dreiser

75. According to the text. What privileges did birstclass passengers have in big

ships?

A) first class passengers had private rooms and ate in elegant rooms
B) first class passengers had private rooms with gold bathrooms
C) first class passengers had private restrooms
D) first class passengers had TV in their rooms
E) first class passengers ate in decks

76. When did taking the boat to Europe become popular?
A) after World War I
B) after the Pearl Harbor
C) after World War IT
D) after the Peasants’ Revolt of 13 & 1
E) after the Civil War

77. What was the name of French liner?
A) Normans
B) Northmandie
C) Northumbria
D) Norfolk
E) Normandie

78. What delicacies were on the menn for dinner?
A) caviar and Pele
B) caviar and potato
C} caviar and pate
D) caviar and plate
E) caviar and plato
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The Power Of Imagination.

Mr. Brown lived in America, but he liked travelling very much. He
made trips to Europe and Asia, and he visited India, too. Once after a long trip
from England to America he arrived at a small country place. There was a
small hotel there. Mr Brown got to the hotel late in the evening. At the hotel
he asked the receptionist whether there were any vacant rooms there. At that

moment another traveller came to the hotel and asked the receptionist for a
room, too. The receptionist checked if there were any vacant rooms. The
only vacant room he could offer was a double room.

“Will it be convenient to you if you share the room?” the receptionist
asked. “It’l] be less expensive for you, you’ll each pay half.”

At first they didn’t like the idea, but just then it began raining heavily and
they were too tired to go to another hotel. They spoke to each other and told the
receptionist that they agreed to spend the night in the same room.

A porter showed them to their room, took in their things and wished them
good night. Soon the two men went to sleep.

Suddenty Mr Brown heard some noise. He opened his eyes but didn’t see
anything. It was quite dark.

“What’s the matter?” Mr Brown asked in surprise. The second traveller
answered, “I’m very sorry, I had to wake you up. ’'m not well. Please, open the
window quickly.”

Mr Brown got out of bed and began looking for matches, but he couldn’t
find them in the dark, so he tried to find the window. It took him some time and
at last he thought he had found it. He couldn’t open the window. As the voice
of the traveller became weaker and weaker, Mr Brown took a chair and broke
the window with it. The man said he was much better. Then the two of them
slept until morning.

When they woke up the next morning they were surprised to see that Mr.
Brown had broken to pieces a large mirror.

79. Who was Mr. Brown?
A) A driver.
B) A traveller.
C) A porter.
D) A singer.
E) A lawyer.

80. What did he ask at the hotel?
A) Something to eat.
B) A double room.
C) Some money.
D) A vacant room.
E) First aid.
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81. What did the receptionist tell the men about sharing one room?
A) “It will be less expensive for you”.
B) “If you take this room we will bring you dinner”.
C) He said nothing.
D) “You will spend a good time together”.
E) “It is a very fashionable room”.
82. What did the receptionist offer?
A) A Lux-room.
B) A private house.
C) A Pent-house.
D) A single room.
E) A double room.
83. What happened to the men at night?
A) They wanted to eat.
B) Mr. Brown’s neighbour felt unwell.
C) They wanted to observe the hotel’s place.
D) The receptionist asked them to go out of the hotel.
E) They couldn’t fall asleep.
84. What did Mr. Brown think he broke at night?
A) A vase.
B) A glass of water.
C) A wall-unit.
D) A lamp.
E) A window.
85. Where did Mr. Brown live?
A) In China.
B) In Europe.
C) In India.
D) In Asia.
E) In the USA.
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Because she was 2 Negro woman

Balashyan arrived in New Orleans on Sunday morning on his way to
Baltimore. A Aclerk at the booking office told him: “There are some seats
for the train going to Baltimore in half an hour”.

-:-Soon Balashyan was sitting by the window in the smoking compartment of
a car. He began to look through the newspapers. But then he noticed a young
woman sitting at the window of the next compartment. She was beautiful with
black hair. A book lay in front of her but she was not reading it.

At a small station the train stopped and a group of young men in military
uniform entered the car. One of them took a seat near Balashyan.

"Are these today's newspapers? Do you mind if I read them?" he asked
Balashyan in French.

"Not at all”, he answered.

"Are you French?"

"No, I am Armenian," said Balashyan.

"Oh, is that so?" the young man cried out in-surprise.
"['ve never met an Armenian."

Soon everybody knew about Balashyan, and began asking him questions:
"What kind of people are the Armenians? Is your country far from New
Orleans? Are the girls in Armenia beautiful?”

But suddenly the conversation was interrupted by a woman's scream
coming from the next compartment. They all jumped up and hurried to see
what was happening there.

This is what they saw: a tall officer was standing in front of the young
woman and shouting at her: "I repeat my question: Are you a Negress? I repeat
my question. Are you a Negress?"

But the young woman said nothing.

"You are! I can recognize Niggers from a distance. Where are you going?”
he shouted.

"To Baltimore to see my husband. He is in the army too. He is leaving for
France tomorrow.

"Why do you go in the car for white people?" asked the man.

86. Complete the sentence:
This story arises the problem of ... .
A) Homeless people.
B) Female suffrage.
C) Racism.
D) Unemployment
E) Poverty.
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87. Complete the sentence:
The young woman was going to Baltimore to... .

A) Do some shopping.

B) See her husband.

C) Sing before soldiers going to the war.

D) Listen to a concert.

E) Take part in the march of the American Negroes against discrimination.
88. Fill in the blanks according to the content of the text:

Soon everybody knew about Balashyan and began asking ... questions.

A) Them.

B) You.

C) Us.

D) Him.

E) Her.
89. Choose the right answer:

What did Balashyan’s neighbour get interested in?

A) His nationality.

B) His occupation.

C) His appearance.

D) His clothes.

E) His position.
90. Fill in the blanks according to the content of the text:

At a small station the train stopped and a group of young ... entered the
car.

A) Women.
B) Fishermen.
C) Men.
D) Girls.
E) Boys.
91. Choose the right answer:
What colour was the woman’s hair?
A) Black.
B) Brown.
C) Yellow.
D) Red.
E) Fair.
92. Choose the right answer:
What language did a young officer address to Balashian?
A) Chinese.
B) German.
C) French.
D) Armenian.
E) English.
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93. Fill in the blanks according to the content of the text:
The woman’s husband was leaving for ... the next day.
A) France.
B) South Africa.
C) Bulgaria.
D) Canada.
E) Russia.
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The Problems of Inventors

Many of the modern world's most famous discoveries and inventions were
not made by scientists, but by amateur inventors. Often, these inventors had such
unusual ideas that they were laughed at. But people like these, working on their
own, gave us many of the things we use every day.

Clarence "Bob” Birdseye, who invented frozen foods, was both a successfiil
inventor and a good businessman. But it took him years to overcome the biggest
problem of successful inventions - convincing people to try something new and
different. Birdseye first tried to freeze fish. After years of experimenting with the
process, he started Birdseye Seafoods, Inc. But the company soon went bankrupt.
Even though the process worked, people didn't believe that frozen fish could
possibly be good. It took a long time, but people finally accepted frozen food. By
the end of his life, Birdseye, who was completely self-taught inventor, had 100
patents that he sold for a total of 22 million dollars.

Few inventors were as successful as Birdseye. Some, like the original
owners of Coca-Cola, didn't realize the potential of their discoveries. The son of
he inventor of Coca-Cola sold the recipe for $2,300. Today the product is worth
billions of dollars. In 1853, Karl Gerhardt invented aspirin, but he didn't know
what to do with it. Fifty years after his invention, a German company discovered
that it was a painkiller and has since made millions selling it. Edwin Armstrong
invented FM radio, but he spent his whole life trying to pro
Competitors stole his patents, and companies cheated him out
he became so frustrated with his failures that he ended his life
a window.

Most great inventors, like Gerhardt and Armstrong, made little or nothing
from their inventions. The first person with a new idea may get attention, but he

also gets the problem of an untried idea. In business, it is sometimes better to be
second.

tect his invention.
of money. Finally,
by jumping out of

94. Who invented frozen foods?
A} Carl Birdseye
B) Clarence Beoyence
C) Clarence Birdseye
D) Carsper Birdseye
E) Christopher Birdseye

95. What is the greatest problem of successful inventions?
A) to buy a modern equipment

B) to prove their authorship

C) to convince people to try something different
D) to prevent stealing their patents

E) to avoid competitors

30



Bapuanr | Yrenue

96. What did he start?
A) Birdseye Seasnails, Inc
B) Birdseye Seashells, Inc
C) Birdseye Seafoods, Inc
D) Birdseye Seagoods, Inc
E) Birdseye Seasnakes, Inc

97. Why did Birdseye’s first company go bankrupt?
A) people cheated him out of company
B) people didn’t have money
C) people didn’t like fish
D) people didn’t believe frozen fish could be good
E) people didn’t like him

98. Birdseye sold his patents for a total of:
A) 32 million dollars
B) 42 million dollars
C) 12 million dollars
D) 20 million dollars
E) 22 million dollars

99. When did German company find out that aspirin could possibly be useful?
A) sixty years after its invention
B) thirty years after its invention
C) twenty years after its invention
D) fifty years after its invention
E) forty years after its invention

100. In business, it is sometimes better to be:

A) bold
B) second
C) first
D) tucky
E) cunning
TECT IO BJOKY
Yrenne
3ABEPIHEH
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Text 1

1. How many students did in the thirty-eighth International Physics Olympiad
compete?
A) More than four hundred
B) More than five hundred
C) More than three hundred
D) Three hundred
E) More than six hundred

2. What countries took the third place?
A) the United States and South Korea
B) the United States and Italy
C) Italy and South Korea
D) France and South Korea
E) the United States and Russia

3. How many days did the Olympiad last?
A) seven
B) eleven
) twelve
D) nine
E) ten

4. What was the name of the city where the Olympiad took place?
A) Kabul

B) Luxor

C) Isfahan
D) Kunduz
E) Istanbul

5. What students did in the thirty-eighth International Physics Olympiad compete?
A) senior course students

B) high school students

C) primary school students
D) college students

E) secondary school students
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Text2
6. And if you have a question, send itto ... .

A) social@voanews.com.
B) special@nfb.com.

C) blind@voanews.com.

D) special@nfb.org.

E) special@voanews.com.

7. Students must be legally ... .
A) blind
B) American
C) foreign
D) deaf
E) citizen

8. The federation says there are no ... for the blind.
A) special libraries
B) special colleges or universities
C) special transport
D) special hospitals
E) special schools

9. Who is the author of this VOA Special English Education Report?
A) The Organic Food Sellers’ Association copywriter
B) Wal-Mart’s Sales Agent
C) The Organic Trade Association
D) Shep O'Neal
E) Nancy Steinbach

10. The federation says there are no special colleges or universities for ... .
A) the blind
B) the disabled
Q) the deaf
D) the students
E) the foreigners
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Text 3

11. It was built as a "..." school based on requirements from the United States Green
Building Council.
A) white
B) blue
C) green
D) pink
E) yellow

12. And an underground tank can store ... liters of rainwater.
A) one million one hundred thousand
B) one million six hundred thousand
C) one million seven hundred thousand
D) two million seven hundred thousand
E) three million seven hundred thousand

13. And an underground tank can store one million seven hundred thousand liters
of.....

A) gas

B) rainwater
C) gasoline
D) liquid coal
E) water

14. The new building cost about ... million dollars to build.
A)90
B) 80
C) 150
D) 50
E) 120

15. Capital E examined the cost of ... green schools in the United States,
A)40
B) 100
C)50
D)30
E)25
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Text 4
16. Who go to summer camp?

A) Childs

B) Sportsmen
C) Volunteers
D) Children
E) Teachers

17. Specialty camps offer ... the chance to learn about different subjects.
A) tutors '
B) boys and girls
C) parents
D) children
E) young people

18. In technology camps, one subject that children can learn about is ... .

A) movie design

B) video game design

C) computer game design
D) video design

E) game designing

19. Where is Cybercamps located?

A) at the Oxford University in Great Britain

B) at the Cambridge University in Great Britain
() at the University of New-York

D) at the University of Harvard

E) at the University of Maryland

20. What is Kids-N-Technology?
A) a highly developed camp

B) a day camp
C) a scientific camp
Dj) a technology camp
E) a night camp
TECT 0O BJOKY
Caywanue
3ABEPHIEH
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Jlekcuko-rpamMMaTRYECKRH TecT

21. Choose the right variant:
Excuse me, sir. ’m ____ stranger here.
A) An.
B) A.
C)-.
D) This.
E) The.
22. Choose the correct answer.
Suddenly cloud grew darker.
A)A.
B) The.
C) This.
D) —
E) An.
23. Choose the correct answer.
time does the News start? At 8.00 o’clock.
A) Where.
B) When.
C) Why.
D) Which.
E) What.
24, Choose the right variant:
Hsanuaroro mwons 1969 Anonnod 11 goctrr cBoel ucTOpHyecKol Lenu.
A) On July 20, 1969, Apollo 11 achieved his historical goal
B) On the July 20, 1969, Apolio 11 achieved his historical goal
C) In July 20, 1969, the 11-th Apollo achieved the historical goal
D) On July 20, 1969, Apollo 11 achieved the historical goal

E) On 20 July, 1969, the Apollo 11 has achieved the historical goal
25. Choose the correct variant:
She likes living in a warm climate  ?
A) Wouldn’t she. T
B) Isn’t she.
C) Had she.
D) Won’t she.
E) Doesn’t she.
26. Choose the correct answer.
What ___ you doing when I rang you up?
A) Were.
B)Is.
C) Are.
D} Was.
E) Am.
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27. Have you read the text ... by the students?
A) be translated
B) is translating
C) translated
D) having translating
E) have been translating
28. 1 can remember ... voices in the middle of the night.
A) to hear ‘
B) heard
C) hearing
D) hears
E) being heard
29.1 last saw him ... down the road towards the shops.
A) walkes
B} walked
C) walking
D) in walk
E) walks
30. Iregret ... school at fourteen, it was a big mistake.
A) to leave
B) being leaving
C) to leaving
D) that leaves
E) has leaving
31. Choose the correct preposition:
Jane wanted to get a brooch ... the shape of a horseshoe.
A)to
B) at
C)of
D) with
E)in
32. Choose the correct answer.
I want to stay home this evening.
A) On.
B) At.
C) To.
D) With.
E) In.
33. Which suffix isn’t an adjective forming?
A) -ful
B) -able
) -y
D) -er
E) -ish

37



Bapwanr 2 JIEKCHKO-TPaMMaTHYCCKRE TooT

34. leseptupsi
A) dropers
B) dropouts
C) dropdowns
D) dropaways
E) drop-offs
35. Choose antonyms to the underlined words.
Such a matter a girl can be allowed to arrange for herself.
A) Hindered
B) Forbidden
C) Known
D) Shunned
E) Forgotten
36. Which word is different? Find it.
A) Comedies
B) Jokes
C) Toride
D) Humour
E) Funny
37. Find the odd word:
A) Sick.
B) Unwell.
C) Intelligent.
D) Healthy.
E) Medical.
38. The famous Westminster Abbey was built by
A) King Edward V1
B) Emperor Constantine
C) William Caxton
D) Edward the Confessor
E) Edward the Conqueror
39. Who wrote “Canterbury Tales”?
A) John Milton
B) Geoffrey Chaucer
C) Robert Bumns
D) William Caxton
E) Joan Osbourne
40. Choose the right variant:
A) If you had leave earlier you would have caught the tram
B) If you left earlier you should had caught the tram
C) If you have left earlier you would had caught the tram
D) If you had been left earlier you would have caught the tram
E) If you had left earlier you would have caught the tram
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41. Choose the right variant:
When he fell over, he broke two of his .
A) Teeth.
B) Tooths.
C) Toothes.
D) Teethes.
E) Teeths.
42, Choose the correct variant:
The speaker ... the members of the government in strong terms.
A) Was thanking.
B) Supported.
C) Was praising.
D) Was blaming.
E) Was criticizing.
43. Choose the correct form of the adjective. The economy of ............. states
contains 80% of the World’s weli-being.
A) Powerfully
B) Power
C) Powerness
D) Powerful
E) Powerless
44. Choose the right variant:
He comes home very ...
A) Late
B) Later
C) Lately
D) The latest
E) Latest
45. Choose the correct variant:
How do you usually get to the ... underground station?

A) Far.
B) Close.
C) Near.
D) Next.

E) Nearest.
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46. Fill in the gaps with the correct variant:
One of ... of the late Middle Ages was Saint Thomas Aquinas, a scholar
who studied under Albertus Magnus.
A) That was thinking
B) Who thought greatly
C) The thinkers who was great
D) The greatest thinkers
E) The great thinker
47. Choose the correct form of the adjective.
Kyzylordaisa.......... town than Shymkent.
A) Industrous
B) Not industrial
C) Very industrial
D) Less industrial
E) Most industrial
48. Fill in the gaps with the correct variant
The total production of bushels of corn in the United States is ... all other
cereal crops combined.
A) More of
B) More as
C) More than that
D) More than that of
E) More that
49. Choose the suitable preposition
Hesplit with his girlfriend last week.
A) Down.
B) Off.
C) Up.
D) Over.
E) Away.
50. Choose the correct variant:
She was invited to this conference .
A) How.
B) Like.
C) Though.
D) As.
E) Asit.
51. Choose the correct variant:
The director told his secretary ... the message straight away.
A) Deliver.
B) To deliver.
C) Delivered.
D) Delivers.
E) Delivering.

.. a specialist in medicine.
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52. Choose the right variant
Ifit this weekend, I'll stay home and watch TV.
A) Rained.
B) Rain.
C) Will rain.
D) Rains.
E) Would rain.

53. Choose the right variant:
There's nothing left for him but escape, ... ?
A) Is there’s.
Bj) Is there.
O lsit.
D) Isn’t.
E) Isn’t there.
54. Choose the right form of the verbs:
Tamright, ... ... ?
A) Aren’t L.
B) Amnot 1.
C) Are L.
D)yAmIL
E) Hasn’t L.
55. Answer the question:
What is the largest state in the USA?
A) Hawaii.
B) Minnesota.
C) New Jersey.
D) Montana.
E) Alaska.
56. Complete the sentence
I need to buy .
A) A loaves of bread.
B) A bread.
C) A loaf of bread.
D) A loaf bread.
E) Breads.
57. Choose the right variant:
... Crimea is in ... South of our country.
A) A, the
B) The, -
C)The, a
D) The, the
E) -, the
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58. Make the best choice of the modal verb. You ____ not smoke, it’s ruinous
for your health.
A) May
B) Could to
C) Need to
D)Canto
E) Should
59. Choose the right passive form of the verbs
Regular conferences ... ... at this company every year.
A) Being held.
B) Have been held.
C) Are held.
D) Held.
E) Have held.
60. Choose the right variant:
We can’t go along here because the road is ... .
A) being repaired
B) repair
C) was being repaired
D) repaired
E) been repaired
61. Choose the correct variant:
He makes me
A) Laugh.
B) Laughing.
C) Have laughed.
D) To laugh.
E) To be laughing.
62. Choose the right word:
He is (ToT camuiii) person we want to see.
A) Very
B} A very
C) The right
D) The same
E) The very
63. Choose the correct variant:
He ... for me for 20 minutes at the entrance to the theatre.
A) Has waited
B) Waiting
C) Was waiting
D) Waits
E) Has been waiting
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64. Choose the correct variant:
I am not acquainted with Wales customs. ... 1.
A) So am.
B) Neither do.
C) Neither am.
D) So do.
E) Neither was.
65. Find the incorrect variant
Bess is used to fly after having crossed the continent many times during the
past decade.
A) To fly
B) Past decade
C) Many times
D) Having crossed
E) Is used
66. Choose the right variant:
1If Benjamin Franklin so hard, he the symbol of America.
A) Had not worked / would not have become.
B) Wouldn’t work / didn’t become.
C) Didn’t work / wouldn’t become.
D) Have worked/becomes.
E) Would not have worked / hadn’t become.
67. Fill in the gap with the correct variant
At Woolworth’s first five-and-ten-cent store, ... more than a dime.
A) Items none costing
B) Neither items cost
C) Some items no cost
D) No item cost
E) Items not cost
68. Fill in the gap with the correct variant
Not until the Triassic Period ... .
A} First primitive mammals did develop
B) Did the first primitive mammals develop
C) The first primitive mammals developed
D) Did develop the first primitive mammals
E) The first primitive mammals develop
69. Choose the correct word:
Don’t ( 3a6yxs ) your copy-book at home!
A) Forget
B) Leave
C) Left
D) Stay
E) Remain
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70. Choose the right variant;
Do I have to get ready now? -Yes, it'stime we .

A) Go.
B) Went.
C) Would go-
D) Should be going.
E) Will go.
TECT IO BJIOKY
JexcHKo-rpaMmaTHueckHii TeeT
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Ocean Liners

The millions of people who cross the Atlantic every year usually do so by
jet. These planes are fast, safe, and convenient. But in the past, virtually all
Atlantic travelers took ships. The first ocean liners were primitive. On early 19"-
century sailing ships, cabins were cold and wet. Food was fresh only on the first
day, and the passengers suffered constantly from the condition Charles Dickens
called “not ill, but going to be”. Some were going to be worse than ill. In those
days, one out of six sailing ships crossing the Atlantic sank. Ocean Notes for
Ladies, published in 1877, advises passengers to dress well because “a body
washed ashore in good clothes would receive more respect”. But by the end of
the 19™ century, along with improved safety came comfort and, in some cases,
luxury. Ocean liners were strictly divided by class. Down below, hundreds of
immigrants were crowded together in steerage — the section having the poorest
accommodations. Up above, first class passengers had private rooms with marble
bathrooms, and they ate in elegant dining rooms.

After World War I, taking the boat to Europe became fashionable and
popular for tourists as well as the rich. Bigger and bigger ships were built that
carried a million tourists a year to Europe. This was the time of the greatest ocean
liners. They were faster and more comfortable, and they offered food and
luxuries comparable to good hotels. The voyage to Europe was seen as part of the
vacation. Passengers swam, danced, and walked the decks looking for famous
people on board. One passenger wrote about sailing on the French lmer
Normandie: “Caviar and paté for dinner yesterday. The whole place is like a
setting for a ballet.”

The Normandie was destroyed by a fire in 1942, and today almost all of the
other great ocean liners are gone, too. They have been put out of business by jets.
Jets are crowded, they aren’t elegant, and they serve mediocre food — but they are
fast. Planes cross the Atlantic in six hours instead of six days, and travelers can’t
resist their speed

71. How do the millions of people cross the Atlantic every year?
A) by ferry
B) by helicopter
C) by submarine
D) by plane
E) by jet

72. What happened to “The Normandie?
A) was destroyed
B) was repainted
C) was exchanged
D) was sold
E) was stolen
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73. What are the advantages of ships compared to airplanes?
A) they are safer
B) they are faster
C) they are elegant, comfortable
D) they are warmer
E) they are cheap
74. What kind of food is offered in planes?
A) medium food
B) mediocre food
() media food.
D) medieval food
E) medicine food
75. Why were sailing trips in the 19th century uncomfortable?
A) captains were cruel
B) crew was unreliable
C) cabins were narrow
D) cabins were without doors
E) cabins were cold and wet
76. How many ships crossing the Atlantic sank?
A) one out of five
B) one out of six
C) one out of four
D) one out of seven
E) one gut of three
77. How did ships tmprove in the early 20th century?
A) ocean liners got new names
B) ocean liners were divided by colour
C) ocean liners were divided by class
D) ocean liners were divided by size
E) ocean liners were modernized
78. What did the ocean liners offer to their passengers
A) food and meeting famous people
B) food and money
C) food and luxuries
D) diving and food
E) food and saving boats
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The Power Of Imagination.

Mr. Brown lived in America, but he liked travelling very much.
He made trips to Europe and Asia, and he visited India, too. Once after a long
trip from England to America he arrived at a small country place. There was
a small hotel there. Mr Brown got to the hotel late in the evening. At the hotel
he asked the receptionist whether there were any vacant rooms there. At that
moment another traveller came to the hotel and asked the receptionist for a
room, too. The receptionist checked if there were any vacant rooms. The
only vacant room he could offer was a double room.
“Will it be convenient to you if you share the room?” the receptionist asked.
“It’ll be less expensive for you, you’li each pay half.”

At first they didn’t like the idea, but just then it began raining heavily and they
were too tired to go to another hotel. They spoke to each other and told the
receptionist that they agreed to spend the night in the same room.

A porter showed them to their room, took in their things and wished them
good night. Soon the two men went to sleep.

Suddenly Mr Brown heard some noise. He opened his eyes but didn’t see
anything. It was quite dark.

“What’s the matter?” Mr Brown asked in surprise. The second traveller
answered,

“I'm very sorry, I had to wake you up. I’'m not well. Please, open the window
quickly.”

Mr Brown got out of bed and began looking for matches, but he couldn’t find
them in the dark, so he tried to find the window. It took him some time and at last
he thought he had found it. He couldn’t open the window. As the voice of the
traveller became weaker and weaker, Mr Brown took a chair and broke the
window with it. The man said he was much better. Then the two of them slept
until morning.

When they woke up the next morning they were surprised to see that Mr Brown
had broken to pieces a large mirror.

79. Who was Mr. Brown?
A) A singer.
B) A traveller.
C) A porter.
D) A driver.
E) A lawyer.
80. What did Mr. Brown hear at night?
A) Some noise.
B) Music.
C) The sounds of a thunderstorm.
D) The birds’ singing.
E) Shouts outside the room.
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81. At first, what was Mr. Brown looking for in the dark?
A) A book.

B) Matches.
C) The window.,
D) A tape-recorder.
- 'E) The door.
82. Why did they agree to spend the night in the same room?
A) They were too tired to go to another hotel.
B) They had no choice.
C) They were hungry and wanted to have dinner in the café of the hotel.
D) They were in a hurry.
E) They didn’t like to spend the night alone.
83. What did the man say after Mr. Brown had broken the window?
A) “Let’s go outside and breathe fresh air”.
B) “I am much better”.
C) “Thank you very much”.
L, “I don’t feel better”.
E) “It’s very kind of you”.
84. What did the neighbour ask Mr. Brown to do?
A) To open the window.
B) To bring some water.,
C) To look for the receptionist.
D) To give a warm blanket.
E) To call for a doctor.
85. Could the men fall asleep after breaking the window?
A) They talked all night.
B) They slept until morning.
C) They went to hospital.

D) They walked through the streets of the night town.
E) They could not sleep.
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Because she was a Negro woman

Balashyan arrived in New Orleans on Sunday moming on his way to
Baltimore. A clerk at the booking office told him: “There are some seats for
the train going to Baltimore in half an hour”.

Soon Balashyan was sitting by the window in the smoking compartment of a
car. He began to look through the newspapers. But then he noticed a young
woman sitting at the window of the next compartment. She was beautiful with
black hair. A book lay in front of her but she was not reading it.

At a small station the train stopped and a group of young men in military
uniform entered the car. One of them took a seat near Balashyan.

"Are these today's newspapers? Do you mind if I read them?" he asked
Balashyan in French.

"Not at all", he answered.

"Are you French?"

"No, I am Armenian,” said Balashyan.

"Oh, is that s0?"” the young man cried out in-surprise.
"I've never met an Armenian.”

Soon everybody knew about Balashyan, and began asking him questions:
"What kind of people are the Armenians? Is your country far from New Orleans?
Are the girls in Armenia beautiful?"

But suddenly the conversation was interrupted by a woman's scream coming
from the next compartment. They all jumped up and hurried to see what was
happening there.

This is what they saw: a tall officer was standing in front of the young
woman and shouting at her: "I repeat my question: Are you a Negress? | repeat
my question. Are you a Negress?"

But the young woman said nothing.

"You are! I can recognize Niggers from a distance. Where are you going?”
he shouted.

"To Baltimore to see my husband. He is in the army too. He is leaving for
France tomorrow.

"Why do you go in the car for white people?” asked the man.

86. Complete the sentence:
This story arises the problem of ... .
A) Homeless people.
B) Female suffrage.
C) Racism.
D) Unemployment
E) Poverty.
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87. Complete the sentence:
The 1all officer was standing in front of the young woman and ....
A) Making her a proposal.
B) Reading the Bible.
C) Telling her compliments.
D) Shouting at her.
E) Singing a serenade.
88. Choose the right answer:
Where was Balashyan going?
A) To Baltimore.
B) To New York.
C) To New Orleans.
D) To Santa Fe.
E) To Washington.
89. Choose the right answer:
Where was a young woman sitting?
A)Next to Balashyan.
B) On the platform of the station.
C) At the door of the compartment.
D) At the window in the next compartment.
E) At the booking office.
90. Fill in the blanks according to the content of the text:

I can recognize ... from a distance.
A) Armenians.

B) ltalians.
C) Russians.
D) Armenians.
E) Niggers.
91. Choose the right answer:
What did a tall officer want to know of the woman in the next
compartment?
A) Whether she was a Christian.
B) Whether she was a Jewish woman
C) Whether she was a Negress.
D) Whether she had children.
E) Whether she was married.
92. Fill in the blanks according to the content of the text:

A group of young men in ... entered the car at a smal{ station.
A) Sports kit.

B) Military uniform.
C) Dinner jackets.
D) Fancy dress.

E) Working clothes.
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93. Fill in the blanks according to the content of the text:

The conversation was suddenly interrupted by ... coming from the next
compartment.

A) A woman’s scream.

B) A storm.

C) A baby’s crying.

D) Sounds of music.

E) A thunder.
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The Problems of Inventors

Many of the modern world's most famous discoveries and inventions were not
made by scientists, but by amateur inventors. Often, these inventors had such
unusual ideas that they were laughed at. But people like these, working on their
own, gave us many of the things we use every day. o

Clarence "Bob" Birdseye, who invented frozen foods, was both a successful
inventor and a good businessman. But it took him years to overcome the biggest
problem of successful inventions - convincing people to try something new and
different. Birdseye first tried to freeze fish. After years of experimenting with the
process, he started Birdseye Seafoods, Inc. But the company soon went bankrupt.
Even though the process worked, people didn't believe that frozen fish could
possibly be good. It took a long time, but people finally accepted frozen food. By
the end of his life, Birdseye, who was completely self-taught inventor, had 100
patents that he sold for a total of 22 million dollars.

Few inventors were as successful as Birdseye. Some, like the original owners
of Coca-Cola, didn't realize the potential of their discoveries. The son of he
inventor of Coca-Cola sold the recipe for $2,300. Today the product is worth
billions of dollars. In 1853, Karl Gerhardt invented aspirin, but he didn't know
what to do with it. Fifty years after his invention, 2 German company discovered
that it was a painkiller and has since made millions selling it. Edwin Armstrong
invented FM radio, but he spent his whole life trying to protect his invention.
Competitors stole his patents, and companies cheated him out of money. Finally,
he became so frustrated with his failures that he ended his life by jumping out of
a window.

Most great inventors, like Gerhardt and Armstrong, made little or nothing
from their inventions. The first person with a new idea may get attention, but he

also gets the problem of an untried idea. In business, it is sometimes better to be
second.

94. Who invented frozen foods?
A} Cari Birdseye
B) Carsper Birdseye
C) Clarence Beoyence
D) Christopher Birdseye
E) Clarence Birdseye

95. What did he try to freeze first?
A) meat
B) cheese
C) fruit
D) fish
E) forage
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96. By the end of his life Birdseye had:
A) 100 parties
B) 100 pets
C) 100 patients
D) 100 patents
E) 100 passions
97. The recipe of Coca-Cola was sold for:
A) 2400 dollars
B) 2500 doliars
C) 2300 dollars
D) 2350 dollars
E) 2000 dollars
98. Gerhardt’s invention appeared in:
A) 1853
B) 1953
C)1753
D) 1893
E) 1983
99. Who discovered that aspirin was a painkiller?
A} Austrian company
B) French company
C) Georgian company
D) German company
E) Chinese company
100. Armstrong spent the whole life trying:
A) to improve his invention
B) to invent something new
C) to travel abroad
D} to protect his invention
E) to help homeless people

TECT 11O BUIOKY
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Text 1

1. When was The Securities and Exchange Commission in Washington created?
A) In nineteen thirty-three
B) In nineteen twenty-four
C) In nineteen thirty-five
D) In eighteen thirty-four
E) In nineteen thirty-four

2. How many members are there in commission?
A) four
B) ten
C) three
D) two
E) five

3. Where was The Securities and Exchange Commission created?
A) In New-York

B) In Washington
C) In Paris

D) In Moscow

E) In Boston

. What was the Securities and Exchange Commission in Washington created
for?

A) To admit investors

B) To protect businessmen
C) To protect investors

D) To control investors

E) To protect entrepreneurs

5. The S.E.C. ... laws and rules that govern financial markets.
A) Accepts

B) Controls
C) Enforces
D) Admits

E) Executes
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Text 2
6. What pain are many people around the world feeling right now?
A) the dental pain
B) the pain of "stomach"
C) the liver pain
D) the stomach pain

E) the pain of "agflation"

7. What is Wen Jiabao?
A) University Dean
B) Reporter
C) Premier
D) Writer
E) Speech Writer

8. Agricultural inflation has been hitting the price of ... .
A) food products
B) pharm products
C) oil products
D) grains and other products
E) services and other products

9. Who has strongly supported ethanol production?
A) the society
B) the agricultural companies
C) the business groups
D) the government
E) the senate

10. When did Congyess set a national goal of using twenty-eight billion liters of
ethanol a year by two thousand twelve?
A) In two thousand four
B) In two thousand five
C) In two thousand
D} In two thousand one
E) In two thousand three

55



Bap#ant 3 Cnywakne

Text3

11. What are the diseases that can ruin a farmer?
A) Rinderpest, foot-and-mouth disease and bluetongue disease
B) Flu, foot-and-mouth disease and bluetongue disease
C) Flu, tuberculosis disease and cancer
D) Tuberculosis and bluetongue disease
E) Rinderpest, tuberculosis disease and bluetongue disease

12. Some animals die after ... .
A) just four or five days
B) just a day or two
C) a week
D) ten days
E) just two or three days

13. What are the animal viruses that can ruin a farmer?
A) Flu, tuberculosis disease and cancer
B) Rinderpest, tuberculosis disease and bluetongue disease
C) Tuberculosis and bluetongue disease
D) Rinderpest, foot-and-mouth disease and bluetongue disease
E) Flu, foot-and-mouth disease and bluetongue disease

14. What country has been dealing with foot-and-mouth -- and now its first cases
of bluetongue?

A) Russia
B) USA
C) Turkey
D) Italy
E) Britain

I5. What officials see the recent arrival of that virus in the United Kingdom as
another sign of a bigger problem?
A) UN
B) CNN
C) OBCE
D) NGO
E) WTO
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Text 4

16. What is the leading cause of suicide?
A) Depression
B) Hard diseases
C) Divorces
D) Fatigues
E) Sickness

17. The National Institute of Mental Health paid for ... study.
A) the sixteen million euro
B) the sixteen million dollar
C) the seventeen million euro
D) the seventeen miltion dollar
E) the seven miillion dollar

18. ... says more than one hundred twenty million people worldwide suffer from
depression.
A) The World Trade Organization
B) The Ministry of Health
C) The World Health Organization
D) The United Nations
E) The International Health Care Comission

19. The World Health Organization says more than ... people worldwide suffer
from depression.
A) three hundred twenty million
B) one hundred twenty miilion
C) two hundred twenty million
D) one hundred thirty million
E) four hundred twenty million

20. The World Health Organization says more than one hundred twenty million
people ... suffer from depression.

A) of the region
B) of America
C) of China
D) worldwide
E) of Asia
TECT IO baoky
Cnyuianue
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21. Use the proper article:
1t was early autumn.
A) -
B)A
C) An
D) Some
E) The
22. Choose the correct article.
You know, we are going to ...... tea with the Smiths today.
A) An
B)-
C)Be
D)A
E) The
23. Choose the correct variant:
Bob wants the money. Please give ... to him.
A) They.
B) Its.
C) Them.
D) Those.
E) 1t
24. Choose the correct pronoun : Are (....) clean notebooks?
Alt
B) This
C) That
D) These
E) Those
25. Choose the right form of the numeral “s 1969 rouy”:
A) In nineteen-seventy-nine.
B} In ninety-sixty-six.
C) In nineteen-sixty-nine.
D) In ninety-sixty-nine.
E) In one-nine-six-ninth.
26. We prefer the letter ... by the chief.
A) answered
B) answering
C) being answered
D) being answering
E) having answering
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27. You can find out somebody’s phone number ... in the directory.
A) with looking
B) on looking
C) when looking
D) by looking
E) through looking
28. He had no language problems, ... English for a long time.
A) studied
B) studying
C) study
D) having study
E) having studied
29. If a thing is worth doing it is worth doing ... .
A) worst
B) worse
C) badly
D) bad
E) badder
30. Choose the right variant:
The driver of the car was (serious) injured in the accident.
A) Most serious.
B) More serious.
C) Seriously.
D) Serious.
E) Seriouser.
31. Choose the right preposition:
Let me tell you how to get ___ our place.
A)For.
B) Of.
C) To.
D) With.
E) In.
32. Choose the correct variant:
He has been unemployed ... he left college.
A) From.
B) During.
C) For.
D) Since.
E) Within.
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33. The first time Mrs. Moffat invited him to watch television with her, Simon
declibed. He would rather read, he said ... she gave him a book, ...she
gave him classics

A)yet ... still
B) such as ... but

_.C) when ... but
D)so ... but
E)but ... so

34. ... the Curies extracted radium from pitchblende, several years passed ...

they became concerned about its effects on the people who were using it.
A) after ... before

B) however ... before
C) before ... after
D) yet ... before
E) while ... before
35. A person who leaves for another place without permission
A) a runout
B) a runaway
C) a runer
D) a runago
E) a runoff
36. Find the synonym for the underlined expression:
The airplane goes from London to N
A) Mis-stop.
B) In-stop.
C) Im-stop.
D) Unstop.
E} Non-stop.
37. What publishing house produces the Oxford English Dictionary?
A) Oxford University Press
B) Oxbridge University Press
C) Oxford College Press
D) Oxford Department Press
E) Oxford University Publisher
38. Choose the right variant
Who was the [st. president of the USA?
A) G. Washington.
B) R. Reaghan.
C) B. Clinton.
D) A. Linkoln.
E) J. Carter.

ew York City without stops.
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39. [foHanbAy TOJNBKO AECATH, HO OH BPEMEHAMH PacCy X HaeT Kak
JABAUATIICTHHHA.
A) Donald is only ten but sometimes he talks as though he were twenty
B) Ten-year Donald speaks sometimes as like he were twenty
C) Donald only ten years but he talks as though he reached twenty
D) Donald tells sometimes as if he is twenty though he is only ten
E) Donald is ten only but occasionally he speaks like a twenty-year
40. Choose the right variant:
A) Robert’s employer has suggests that he transferred to another division
B) Robert’s employer has suggestion he is transferred to another division
C) Robert’s employer suggested that he transferred to another division
D) Robert’s employer suggests that he transfer to another division
E) Robert’s employer had suggests that he transferred to another division
41. Choose the suitable variant:
The government is doing nothing to help ...
A) Poors
B} The poors
C) Poor
D) The poor
E) A poor people
42. Choose the correct form of reading. “30/08”.
A) The August and thirty.
B) The thirty of August.
C) The thirtieth and August
D) The thirtieth of August.
E) The thirtieth August.
43. Choose the correct form of the adjective. The southern part of Kazakhstan
land is ...
A) Mountainly
B) Mountainous
C) Mountainful
D) Mountains
E) Mountainless
44. Choose the correct form of the adjective. This negotiation will be .......
A) Believably
B) Believeful
C) Belief
D) Beliefiless
E) Believable
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45. Choose the correct variant:
They have ... paper than we have.
A} Less.
B) Fewer.
C) A little.
D) Few.
E) The least.
46. Choose the right form:
This is the ... place in the park.
A) More beautiful.
B) Most beautiful.
C) Beautifulest.
D) Beautifuller.
E) Beautiful.
47. Choose the right form:
He knows English (good) than his sister.
A) Gooder.
B) Good.
C) More good.
D) The best.
E) Better.
48. Choose the correct preposition:
Fill in the correct preposition or adverb:
My brother goes ...sports.
A) At
B)On
C) In for
D)into
E)Of
49. Choose the correct variant:
1 just had to take the dog out ... of the awful weather.

A)In spite

B) Although

C) Even though
D) Despite

E) Even if

62



Bapnaur 3 Jlekcuxo-rpaMmaTHeckHit Tect

50. Fill in the gaps with the correct variant:
Although they are both grown in the United States and exported abroad,
corn is not native to America and winter wheat ... .
A) Is neither
B) Is either
C) Isn’t neither
D) Neither is
E) Isn’t either
51. Choose the correct variant:
The librarian asked us ... so much noise.
A) not making
B) not make
C) didn’t make
D) don’t make
E) not to make
52. Choose the right variant:
If her alarm-clock had rung, she ... on time for work yesterday.
A) To be.
B) Would have been.
C) Will be.
D) To was.
E) Would having been.
53. Choose the right form of the verbs:
.. he .. .(read) this book yet?
A) Have he read.
B) Was he read.
C) Had he read.
D) Has he read.
E) Did he read.
54. Form a sentence using these words: your breakfast (1) who (2) prepares (3)
in the morning (4)?
A)2/3/1/4
B) 4/1/2/3
C) 1/3/4/2
D) 3/1/2/4
E) 1/4/3/2
55. Make the right choice.
What chamber is the Upper House in the UK?
A) The National Assembly.
B) The House of Commons.
C) The Senate.
D) The House of Lords.
E) The House of Representatives.

63



Bapha: 3 Mexcuko-rpammariyeckuil Tecr

56. Choose the sentence with an uncountable noun.
A) They have never been to any foreign countries.
B) 1 prefer to travel by train.
C) I am sorry but  have no time to discuss this question now.
D) Give me my watch, please.
~ . E) Charles Dickens is one of the greatest and most popular English novelists.
57. Choose the right verb tense:
There was no one else at the box office. I ... in a queue.
A) needn’t wait
B) needn’t have waited
C) mustn’t wait
D) didn’t need to wait
E) hadn’t wait
58. Choose the correct variant:
The size of the pupil in the eye good indicator of a person's

interest, emotion, attitude and thought processes.
A)lsa.

B) Being the.
C) As the.
D) -
E) The.
59. Choose the correct variant:
Extraordinary abilities in mathematics ... in the boy, so he was transfered to
the mathematical school.
A) Was displayed.
B) Has displayed.
C) Is displayed.
D) Were displaying.
E) Had been displayed.
60. Choose the right passive form of the verbs
When you go through customs, your luggage may
officer.
A) Have checked.
B) Be checked.
C) Check.
D) Checked.
E) Have been checked.
51. Choose the correct variant:
1 thought that she ... that he ... the first place
A) Know: s takenr p 0 the chess tournament?
B) Kniew; had taken.
C) Knows; had taken.
D) Knows; has taken.
E) Know; had taken.

...... by a customs
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62. Choose the correct variant:
He made Ann the letter.
A) To be written.
B) To be write.
C) Write.
D) Writing.
E) To write.
63. Complete the sentence:
___tum off the light.
A) Before left.
B) Before leaving.
C) Before to leave.
D) Before being left.
E) Before leaves.
64. Choose the right variant:
We ... told ... a beautiful river not far away.
A) Were / there were.
B) Were / there was
C) Were /it was
D) Are / that was
E) Are / this was
65. Choose the correct variant of the sentence:
“Don’t make such noise, will you?” the man said to him.
A) The man asked him not to make so much noise.
B) The man asked him to make so much noise.
C) The man said to him not to make so much noise.
D) The man asked to him not to make so much noise.
E) The man asked him to not make so much noise.
66. Choose the correct variant:
He speaks asifhe ... ... London himself.
A) visited
B) have visited
C) visits
D) was visited
E) had visited
67. Choose the right synonyms to the underiined words.
The newcomers were met with hostility.
A) Unfriendly
B) Enemy
C) Enmity
D) Hatred
E) Attack



BapwanT 3 JleRCHKO-rpaMMaTHYECK Ul TecT

68. Choose the right synonyms to the underlined words.
' On that day the sea was delightful.
A) Placid
B) Irresistible
C) Too cold
D) Tranquil
E) Terrific
69. Choose the correct variant:
You're off to Bangkok, you say? Whata ...!Soaml.
A) Fate.
B) Luck.
C) Chance.
D) Coincidence.
Ej Fog.
70. Find the synonym to the word:
Transform
A) Work.
B) Turn to.
C) Enable.
D} Achieve.
E) Reach.

TECT IO BJIOKY
Jlekcuio-rpammarnyuecknii Tect
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Yrenue
Boom Towns

Cities usually have a logical reason for being where they are, like a nearby
port or river. People settle in these places because they are easy to get to and
naturally suited to communications and trade. New York City, for instance, is
near a large harbor at the mouth of the Hudson River. Over 300 years its
population grew gradually from 800 people to 8 million. But not all cities
develop slowly over a long period of time. Boom towns grow from nothing
almost over night. In 1896 Dawson, Canada was unmapped wilderness. But gold
was discovered there in 1897, and two years later, it was one of the largest cities
in the West, with a population of 30,000.

Dawson didn’t have any of the natural conveniences of cities like London or
Paris. People went there for gold. They traveled over snow-covered mountains
and sailed hundreds of miles up icy rivers. The trail to Dawson was covered
with thirty feet of wet snow that could collapse without warning. An avalanche
once closed the trail, killing 63 people. For many who made it te Dawson,
however, the rewards were worth the difficult trip. Of the first 20,000 people
whe dug for gold, 4,000 got rich. About 100 of these stayed rich men for the rest
of their lives.

But no matter how rich you were, Dawson was never comfortable. The
instant city of tents and cabins offered few luxuries. And necessities like food
and wood were very expensive. A visiting reporter from the London Chronicle
wrote, “It is all unreal — a sawhorse metropolis where no town should be.
Millionaires to busy to bathe”. But soon, the gold that Dawson depended on had
all been found. The city was crowded with disappointed people with no interest
in settling down, and when they heard rumors of new gold discoveries in
Alaska, they left Dawson city as quickly as they had come. One third left the
first week, and the rest soon followed. Today, people still come and go — to see
where the Canadian gold rush happened. Tourism is now the chief industry of
Dawson city — its current population is 762.

71. Why do rivers and ports often attract people?
A) they like to bathe
B) they are beautiful
C) people like to fish
D) easy to get water
E) easy to get to and suited to communications and trade

72. Where is New York City situated?
A) at the month of the Hudson River
B) at the month of the Huron River
C) at the month of the Havana River
D) at the month of the Gulif of Mexico
E) at the month of the Potomac River
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73. What kind of towns appeared in the West?
A) boom towns
B) woom towns
() zoom towns
D) doom towns
E) room towns '
74. Which Canadian town in 1896 was unmapped wilderness?
A) Detroit
B) Dewson
C) Dakota
D) Dickson
E) Dawson
75. When did people find out gold?
A)in 1797
B)in 1997
C)in 1597
D) in 1897
E) in 1697
76. What was the population of Dawson two years later?
A)50.000
B) 60.000
C) 40.000
D) 30.000
E) 13.000
77. What made the trip to Dawson City difficuit?
A) sand-covered mountains and icy rivers
B) snow-covered plains and icy rivers
C) snow-covered mountains and wild animals
D) snow-covered mountains and snowfalls
E) snow-covered mountains and icy rivers
78. How many people were killed on the trail?
A) 83
B)73
C)43
D) 53
E) 63
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We Can Help

The variety of choices that modern life offers can create problems.

People get too hurried, have trouble communicating, and often find they are
incapable of planning and organizing their lives effectively. Luckily, there are some
services that one can turn to for help. A woman in New York City is a professional
timesaver. Millie of “Let Millie Do It” can be hired to wait for repairmen, drive
children to appointments, meet relatives at the airport, pay bills, or shop. She will
also water plants, take care of pets, and do certain kinds of house- cleaning. For big
cleaning jobs, however, it’s best to get in touch with “Disaster Masters,” another New
York City firm. They will take care of any kind of household mess, but specialize in
cleaning up after fires and floods. This includes, of course, restoring damaged walls,
floors, and furniture.

People with a communication problem might want to use Lipservice, a
California firm that provides “verbal proxy.” If you have something to say but can’t
say it for some reason, Lipservice will say it for you. The company’s staff can tell
someone off, or say “I love you” in eight languages and has done so for clients in
such places as Texas, Canada, England, and Australia. For offbeat entertainment,
people in California can contact a young professional whistler. He usually gives
concerts, but, for a fee, he will entertain at a private party by whistling the works of
classical composers. If popular music is more appropriate, the imaginative host can
hire the Human Jukebox. Thic man sits inside a large cardboard box. Then a coin is
dropped into the box, he pops out and plays the selected tune on a trumpet.

Disorganized people can go to a “time-management consuitant” who will tell
them how to do more in less time, providing of course they take the advice. Insecure
dressers can ask a wardrobe engineer for advice on how to dress in order to project
their most favorable image, and daydreamers can liven up their existence by calling
Fantasy Fulfillment, a firm that makes fantasies come true. For $150 and up, things
like driving a race car, riding a camel, or living in a ghost town can be easily realized.
Last, but not least, a British consultant has started a “School of Thinking.” This
school helps you deal effectively with all the people who want to help out, for a price.

79. Why do people need special kinds of services?
A) people become too lazy
B) people get too selfish
C) people get too weak
D) people get too egoistic
E) people get too hurried, have trouble communicating
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80. According to the text. What services does “Let Millie Do It” provide?
A) meet relatives at the airport, water plants, pay bills
B) meet neighbours at the seaport, take care of documents
C) meet heads of the countries, water ponds
D) meet schoolmates at the station, cleans teeth
E) meet aliens rivals at the bus stop, wash-dogs

81. Where does Millie live?

A) in New York
B) in Albany
C) in Ohio
D) in San-Diego
E)in York
82. What is Millie?
A) a professional timesaver
B) a professional timespender
C) a professional sexton
D) a professional moneysaver
E) a professional gambler

83. What is the name of a bigger cleaning company?

A) “Discharge Masters”
B) “Device Masters”

C) “Disaster Masters”
D) “Danger Masters”
E) “Disbelief Masters”

84. What do they specialize in cleaning up?
A) swimming pools
B) skating-rinks
C) household mess after fires and floods
D) factories and plants
E) schoolyards

8S . Which service helps people with a communication problem?

A) “Tongueservice”
B) “Teethservice”
C) “Mouthservice”
D) “Faceservice”

E) “Lipservice”
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Text

Read the text and find the right answers:

The World Wide Web (WWW, or Web for short) has taken over the Internet.
Indeed, for many people it is the Internet.

Originally, the Internet, and the WWW, was an altruistic environment. It was
made up mostly of academics and military types who created a community where
information was readily available. Everything was free of charge and no one would
have dreamed about trying to sell a product or their services. The only restriction
you were likely to come across was a denial of access if you didn’t have a password
for sensitive information. But when the Net, and in particular the Web, became
popular all of that changed.

With se many ‘ordinary’ people starting to surf the Web as a pastime, it didn’t
take long for Big Business to see it as a new way of selling around the globe.
Simply by putting their products onto a computer they found that they can make
customers to shop at their leisure and buy their products without leaving their own
home. It also captured the imagination of educators as a way of getting quite
detailed information across to a large audience.

Before joining the World Wide Web you may have wondered what the word
“browser” meant. But it was the introduction of these browsers, used to navigate the
WWW, which took away the cold, dry collection of command that computers need
to speak to one another. So instead of having to type long commands and make a
choice from plain text menus, browsers which are programs themselves let you use
your mouse to link to any information. It is the arrival of browsers that opened the
Internet to everyone.

By simply lifting one finger (and pressing it down) we can get information on
any subject. And to access this information no technical understanding is needed.
What is more, we can access it when we want, at any time. There is no viewing
schedule for the Web.

The most obvious item required for access to the WWW is, of course, a
computer. The single most important piece of equipment for connection to the
WWW is Modem.

86. What does the abbreviation WWW mean?
A) Wide World Web.
B) Wide Web World.
C) World Wide Web.
D) Web World Wide.
E) Web Wide World.

87. Why do people put their products onto a computer?
A) To make customer call.
B) To make customer do.
C) To make customer shop.
D) To make customer think.
E) To make customer come.
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88. What has the WWW become for Big Business?
A} A lot of money.
B) A way of getting education.
C) An obstacle.
D) A new way of selling around the globe.
E) A new way of exchanging opinions.
89. What does the word “browser” mean?
A) A computer.
B) A keyboard.
C) A program.
D) A mouse.
E) A monitor.
90. What is the most necessary item required for access to the WWW?
A) A disk.
B) A printer.
C) A monitor.
D) A computer.
E) A tape.
91. What have browsers taken away?
A) A computer.
B) Collection of commands.
C) Time.
D) Money.
E) A monitor.
92. What is Modem?
A) A disk.
B) A piece of equipment.
C) A piece of program.
D) A monitor.
E) A computer.
93. What has the arrival of browsers opened to everybody?
A) Programs.
B) Computers.
C) The world.
D) The Internet.
E) Monitors.
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Modern Sun Worshippers

People travel for a lot of reasons. Some tourists go to see battlefields or
religious shrines. Others are looking for culture, or simply want to have their picture
taken in front of famous places. But most European tourists are looking for a sunny
beach to lie on.

Northern Europeans are wxllmg to pay a lot of money and put up with a lot of
inconveniences for the sun because the have so little of it. Residents of cities like
London, Copenhagen, and Amsterdam spend a lot of their winter in the dark
because the days are so short, and much of the rest of the year in the rain. This is the
reason the Mediterranean has always attracted them. Every summer, more than 25
million people travel to Mediterranean resorts and beaches for their vacation. They
all come for the same reason: sun!

The huge crowds mean lot’s of money for the economies of Mediterranean
countries. Italy’s 30,000 hotels are booked solid every summer. And 13 million
people camp out on French beaches, parks, and roadsides. Spain’s long, sandy
coastline attracts more people than anywhere else. 37 million tourists visit yearly, or
one tourist for every person living in Spain.

But there are signs that the area is getting more tourists than it can handle. The
Mediterranean is already one of the most polluted seas on earth. And with increased
tourism, it’s getting worse. The French can’t figure out what to do with all the
garbage left by campers around St.Tropez. And in many places, swimming is
dangerous because of pollution.

None of this, however, is spoiling anyone’s fun. The Mediterranean gets more
popular every year with tourists. Obviously, they don’t go there for clean water and
solitude. They tolerate traffic jams and seem to like crowded beaches. They don’t
even mind the pollution. No matter how dirty the water is, the coastline still looks
beautiful. And as long as the sun shines, it’s still better than sitting in the cold rain
in Berlin, London, or Oslo.

94, According to the text. People don't travel:
A) to lie one a sunny beach
B) to work
C) to have their picture taken in front of famous places
D) to see battleficlds
E) to see shrines

95. According to the text by the Mediterranean records?
A) they like residents
B) they want to visit their relatives
C) they all come for the sun
D) they like hotels there
E) they want to see starfish

73



. Ure
Bapuant 3 Irenue

96. Residents of what cities spend a lot of their winter in the dark?
A) London, Berlin and Amsterdam
B) London, Copenhagen and Amsterdam
C) London, Venice and Amsterdam
D) London, Toronto and Amsterdam
E) London, Copenhagen and Antwerpen
97. What is the advantage of tourism for Mediterranean countries?
A) lots of exhibitions
B) lots of job to do
C) lots of excursions
D) lots of money for the economies
E) lots of interesting people
98. How many people travel to Mediterranean resorts and beaches?
A) more than 25 million
B) more than 5 million
C) more than 35 million
D) more than 15 million
E) more than 10 million
99. How many Italy’s hotels are booked every summer?
A) 60.000
B) 50.000
C) 40.000
D) 20.000
E) 30.000
100. French beaches are camped out by ...
A) 30 miilion people
B) 33 million people
C) 13 million people
D) 3 million people
E) 10 million people
TECT IO BJIOKY
Yrenne
3ABEPIIIEH
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Text 1

1. When was The Securities and Exchange Commission in Washington created?
A) In eighteen thirty-four
B) In nineteen thirty-three
C) In nineteen thirty-five
D) In nineteen thirty-four
E) In nineteen twenty-four

2. What laws and rules does the S.E.C. enforce?
A) Laws and rules to create new markets
B) Economical laws and rules for fish markets
C) Laws and rules to govern financial markets
D) Financial laws and rules for city markets
E) Laws and rules that outlaw financial markets

3. What is the name of the new chairman?
A) Mario Ritter
B) Christopher Donaldson
C) Gwen Outen
D) William Donaldson
E) Christopher Cox

4. How does the president call Christopher Cox?
A) "a champion of the free-enterprise”
B) "a director of the free-enterprise system”
C) “boy friendly”
D) "a champion of the free system"
E) "a champion of the three-enterprise system”

5. Who does Mister Cox has have strong support from?
A) governments
B) auditors
C) business groups
D) social groups
E) chief directors
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Text 2

6. What pain are many people around the world feeling right now?
A) the dental pain

B) the liver pain
C) the stomach pain
D) the pain of "stomach"
E) the pain of "agflation”

7. Congress set a national goal of using twenty-eight billion liters of ethanol a
year by ...

A) two thousand eight
B) two thousand twelve
C) two thousand nine
D) two thousand eleven
E) two thousand ten

8. More hectares of maize for ethanol mean fewer hectares for crops like ... .
A) peas

B) barley
C)rye

D) soybeans
E) corns

9. Rising grain prices could signal a change for agricultural commodities around
the ...

A)city

B) world

C) state

D) local territory
E) region

10. The government has strongly supported ... production.
A) ethanol

B) computer
C) food

D) corn

E) oil
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11. What are the diseases that can ruin a farmer?
A) Rinderpest, foot-and-mouth disease and bluetongue disease
B) Rinderpest, tuberculosis disease and bluetongue disease
C) Tuberculosis and bluetongue disease
D) Flu, tuberculosis disease and cancer
E) Flu, foot-and-mouth disease and bluetongue disease

12. What does the Food and Agriculture Organization say about animal diseases?

A) 1t says human diseases are on the rise around the world.

B) It says animal diseases are limited to warm, tropical climates.

C) It says animal diseases once limited to warm, tropical climates are on the rise
around the region.

D) It says animal diseases once limited to warm, tropical climates are on the
decrease around the world.

E) It says animal diseases once limited to warm, tropical climates are on the rise
around the world.

13. Bluetongue can kill ... .
A) only sheep and cattle
B) only goats and deer
C) both human and sheep and cattle and other ruminant animals like goats and
deer
D) sheep and cattle and other ruminant animals like goats and deer
E) many ruminant animals

14. How is the virus spread?
A) by small biting flies called insects
B) by small biting bugs called midges
C) by small biting butterflies called midges
D) by small biting flies called midges
E) by small biting flies called gridges

15. Where was this virus first discovered?
A) in North America
B) in South America
C) in North Africa
D) in Latin America
E) in South Africa
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Text 4
16. What is the leading cause of suicide?
A) Divorces
B) Fatigues
C) Depression
D) Hard diseases
E) Sickness

17. The World Health Organization says more than one hundred twenty million
people worldwide suffer from ... .
A) violation
B) intoxication
C) isolation
D) depression
E) emancipation

18. ... in the United States have just reported on a study of more than three
hundred patients ages twelve to seventeen.
A) Physicians
B) Experts
C) Researchers
D) Psychologists
E) Doctors

19. Researchers in ... have just reported on a study of more than three hundred
patients ages twelve to seventeen.
A) Italy
B) the United States
C) France
D) Russia
E) Japan

20. Researchers in the United States have just reported on a study of more than ...
patients ages twelve to seventeen.

A) one hundred

B) six hundred

C) two hundred

D) four hundred

E) three hundred

TECT HO BJIOKY
Caymanne
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21. Choose the right articles:
... actors taking part in the play are called ... cast.

A) the, the
B)-,a
C)the, a
D) -, the
E) the, -

22. Choose the correct variant:

Let ... fly to China next week.
A) She.
B) We.
"C) Us.

D) Our.
E) You.

23. Supply the correct form of the pronoun:

She hasn’t to read in the evening.

A) Anything
B) Nothing
C) Somebody
D) Anybody
E) Some

24, Cerofius IBeCT BOCEMHAMIATEIA JEHE MO,
A) Today is the second hundred eighteen day of the year
B) Today is two hundred eighteen day of the year
C) Today is two hundredth eighteen day of the year
D) Today is the two hundred eighteenth day of the year
E) Today is two hundredth eighteenth day of the year

Jexcuko-rpamMmmaTieckuit Tect

25. Somebody was waiting: a man who, though ... irregularly, was making quite a

speed in my direction.
A) being move
B) having moving
C) moved
~ D) being moving
E) moves
26. Things ... are mightier than things ... .
A) being seen ... heard
B) being seen ... being ... .
,C) having seeing .. heard
D) seeing ... hearing
E) seen ... heard
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27. Choose the proper verb form:
1 really enjoyed the disco. It was great,
A)isn’tit
B) weren’t it
/C) wasn’t it
D) wasit
B)isit
28. ’ll never forget ... the President.
A) on meeting
B) to meeting
C) from meeting
D) for meeting
, E) meeting
29. Choose the right variant:
IsJohn __ Paul? No, I don't think so.
A) Sotall as
B) Tall like.
C) More taller than.
D) Taller than.
B) As tall.
30. Choose the right variant:

JlexcHKO-rpaMMaTHUeCKuli TecT

I don’t think he trusted me. He looked at me so (suspicious).

A) Suspiciouser.
B) Most suspiciously.
C) More suspiciously.
D) Suspiciously.
E) Suspicious.
31. Choose the right variant:

He drove (careful) along the narrow road.

- A) Carefully.
B) Careful.
C) Carefuller.
D) Most careful,
E) More careful.
32. Choose the suitable preposition.

...... Christmas we usually get together with our relatives.
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33. Choose the suitable preposition:
I thotight I"d reach Dover.....two hours.
A)By.
V' B) In.
C) Titt.
D) On.
E) At.
34. David is away at the moment. [ don’t know exactly when he’s coming back,
but I’m sure he’ll be back ... Monday.
A)in
B) until
C) for
D) within
E) by
35. He won’t know what to do ... he listens carefully.
A) unless
B) as long as
C)as
D) in case
E)asif
36. ... the rush appeared, the doctor knew the baby had measles.
A) while
~B) when
C) although
D) before
E) yet
37. TlocpenHuku
¢ A) go-betweens
B) go-arounds
C) go-amongs
D) go-downs
E) go-throughs
38. Choose the suffix forming English adjectives:
A)Er.
B) Est.
C) Ment.
D) Able.
E) Ness.
39. Great Britainisa.... .
A) parliamentary federation
B) parliamentary monarchy
C) constitutional county
D) parliamentary union
E) republic
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40. Choose the right variant:
A) If T were young [ need have a walking holiday
B) If 1 was young [ have a walking holiday
C) If I were young I should have a walking holiday
D) If I were young 1 ought have a walking holiday
E) If I were young I was to had a walking holiday
41. Choose the correct possessive case of the noun:
A) Childrens’ toys’
B) Childrens’ toys
C) Children toys’
D) Children’ toys
\-E) Children’s toys
42. Choose the right variant:
In ... East Anglia, where ... land is drier and less fertile, the farms are
bigger.
A)-, the
B) the,a
C)-, -
D) an, the
E) the, the
43. Do the sums. Ninety minus twenty is: ...
A) Seven eight
B) Seventy.
C) Eighty eight
D) Seventy eight
E) Seventeen
44. Choose the correct form of the adjective
A) Senseless
B) Senseful
C) Sensible
D) Seansitive
E) Sense
45. Choose the right variant:
She feels very ... today.
A) More badly
B) Worse
C) Badlier
D) Bad
E) Badly

. ...idea
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46. Choose the right variant:
The exam was ........... we expected.
A) More easy.
B) More easy than.
"C) Easier than.
D) Easier as.
E) Most easier.
47. Find the incorrect variant:
Because they have moved away, they hardly never go to the beach anymore.
A) Hardly never
B) Moved away
C) To the beach
D) Have moved
E) Because
48. Choose the correct variant:
Please remember: traffic ... Britain keeps ... the left!
A) In/on.
B) At/on.
C) Through/in.
v D) Infto.,
E) At/to. )
49. Choose the correct variant of sentence in indirect speech:
“Can you come tomorrow?” He asked ... the next day.
A) That I can come.
B)If I come.
+JCYIf I could come.
D) If1 can come.
E) That I come. N o
i erbs:
o C}Il;).li_)s:dﬂ,li r(lbg‘lll}t,)fzrr!;:f:a: Zve ...... (go) to the sea-side by car next summer.
A) Will buy, will buy.
B) Wiil buy, are going.
+/C) Buys, will go.
D) Buy, wiil go.
E) Will buy, go.
51. Choose the correct variant: _
When you go abroad, ... very attentive.
A) had to be
B) are
C) must
. D)be
W E)will be
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52. Choose the right variant:

This room (clean) every day?
A) Is this room being cleaned?
 B) Is this room cleaned?
C) Is this room clean?
D) Was this room clean?
E) Was this room cleaned?
53. Choose the right answer.
Christmas Day is celebrated...

A) December, 23.
B) December, 26.
+ C) December, 25.
D) December, 24.
E) December, 27.
54. Choose the right variant:
Great Britain and Ireland are separated by the ... .
A) North Sea.
B) Pacific Ocean.
C) Battic Sea.
D) Atlantic Ocean.
-7 E) Irish Sea.
'55. Choose the right variant:
I better start saving some money each month for my retirement.
A) Have.
B) Would.
C) Will.
D) Should.
* E) Had.
56. Choose the sentence with an uncountable noun:
A) The young man picked up the gloves which the old woman had dropped.
B) Now he works at a children's hospital.
C) Have you begun leaming to skate?
D) Though I can not play any musical instrument I like the classical music.
E) Have you finished translating this article yet?
57. Choose the correct variant:
Janet was out of breath because .....
A) will run
B) she’s run
C) she’s been running
5 D) she’d been running
E) she did run
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58. Choose the correct verb- form:
I (to speak) to the dean before I went home.
A) Was speaking.
B) Has spoken.
C) Had spoken.
D) Spoke.
E) Have spoken.
59. Choose the correct variant:
She always ... him since he started working here.
A} Will trust.
B) Has trusted.
C) Had trusted.
D) Trusted.
E) Trust.
60. Choose the correct variant:
It’s high time we ... the report for consideration
A) would submit
* B) have submitted
C) submitted
D) had submitted
F) submit
61. Choose the word or phrase, which completes the sentence best:
I al} the questions since I began working on this test.
A) Answer.
B) Have answered.
C) Had answered.
D) Am answering.
E) Answered.
62. The police want ... anything suspicious.
A) us reporting
B) to be reported
C) that we report
D) we report
E) us to report
63. Choose the right variant:
He always feels...when he comes to his native town.
A) Happyly
B) Happiful
C) Happiness
D) Happily
. E) Happy
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64. Change the Direct Speech into the Indirect Speech
“I will come tomorrow and finish the work,” the worker said to me.
A) The worker promised he would come tomorrow and finish the work.
B) The worker promised he will come the next day and will finish the work.
C) The worker promised he will come tomorrow and finish the work.
D) The worker promised he would come the next day and would finish the
work.
E) The worker promised he would come the next day and finish the work.
65. Choose the right variant:
At the General’s funeral we ... we would never forget our Commandant.
"A) Swore.
B) Sweared.
C) Have sworn.
D) Swear.
E) Have sweared.
66. Choose the correct English variant:
My sister speaks English. 5 toxe.
A) 'm too
B)Sodol
C)Idotoo
D) Idosotoo.
E)Nordo I
67. Choose antonym to the underlined words.

The mother gave her sun a shilling to spend at his discretion.
A) At random

B) Inspiration
VC) Indignation
D) Indiscretion
E) Rarity
68. Answer the question: Which of the expressions is out of order?
A) Give him a good lesson.
B) Relax.
C) Cheer up.
D) Don’t worry.
E) Take it easy.
69. Choose the correct variant:
The football game had been ... due to rain.
A) Kept.
B) Made.
C) Appointed.
D) Arranged.
E) Cancelled.
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70. Fill in the gaps with the correct variant:

The geographic position of North America, ... in the early days of the
European settlement. .

A) Isolating it as it laid between the Atlant;c and the Pamﬁc Oceans

B) Lying between the Atlantic and the Pacific Oceans, isolated it

C) Having isolated the Atlantic and the Pacific Oceans

D) Isolating it between the Atlantic and the Pacific Oceans as it was layed

E) Laying between the Atlantic and the Pacific Oceans, isolating it

TECT 11O BJIOKY

JeKkcHKO-rpaMMaTHYeCKHHR TecT
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Yrenne
Boom Towns

Cities usually have a logical reason for being where they are, like a nearby
port or river. People settle in these places because they are easy to get to and
naturally suited to communications and trade. New York City, for instance, is near
a large harbor at the mouth of the Hudson River. Over 300 years its population
grew gradually from 800 people to 8 miilion. But not all cities develop slowly over
a long period of time. Boom towns grow from nothing almost over night. In 1896
Dawson, Canada was unmapped wilderness. But gold was discovered therc in
1897, and two years later, it was one of the largest cities in the West, with a
population of 30,000.

Dawson didn’t have any of the natural conveniences of cities like London or
Paris. People went there for gold. They traveled over snow-covered mountains and
sailed hundreds of miles up icy rivers. The trail to Dawson was covered with thirty
feet of wet snow that could collapse without warning. An avalanche once closed the
trail, killing 63 people. For many who made it to Dawson, however, the rewards
were worth the difficult trip. Of the first 20,000 people who dug for gold, 4,000 got
rich. About 100 of these stayed rich men for the rest of their lives.

But no matter how rich you were, Dawson was never comfortable. The instant
city of tents and cabins offered few luxuries. And necessities like food and wood
were very expensive. A visiting reporter from the London Chronicle wrote, “It is all
unreal — a sawhorse metropolis where no town should be. Millionaires to busy to
bathe”. But soon, the gold that Dawson depended on had all been found. The city
was crowded with disappointed people with no interest in settling down, and when
they heard rumors of new gold discoveries in Alaska, they left Dawson city as
quickly as they had come. One third lefi the first week, and the rest soon followed.
Today, people still come and go — to see where the Canadian gold rush happened.
Tourism is now the chief industry of Dawson city — its current population is 762.

71. Why do rivers and ports often attract people?
A} easy to get water
B) they are beautiful
C) easy to get to and suited to communications and trade
D) people like to fish
E) they like to bathe

72. How many people out of the first 20.000 became rich?
A) 4000

B) 5000
C) 7000
D) 6000
E) 2000
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73. What sort of town was Dawson during the period of Canadian gold Rush?
A) city of important offices
B) city of banks
C) city of tents and cabins
D) city of fashionable houses
E) city of saloons and inns
74. What kind of necessities were very expensive in Dawson? .
A) food and wood
B) food and clothes
C) food and carts
D) food and water
E) food and wool
75. Why did people leave Dawson City?
A) because of the plague
B) unbearable living conditions
C) all gold had been found
D) all people got their portion of gold
E) because of the earthquake
76. Where was the new gold discovered?
A) in Arizona
B) in Alabama
C) in Abilene
D) in Alaska
E) in Arizona
77. What is the chief industry of Dawson City now?
A) tourism
B) farming
C) gardening
D) mining
E) fishing
78. What is the current population of Dawson?
A)762
B) 662
C)s562
D) 862
E) 462
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We Can Help

The variety of choices that modern life offers can create problems.

People get too hurried, have trouble communicating, and often find they are
incapable of planning and organizing their lives effectively. Luckily, there are some
services that one can turn to for help. A woman in New York City is a professional
timesaver. Millie of “Let Millie Do It” can be hired to wait for repairmen, drive
children to appointments, meet relatives at the airport, pay bills, or shop. She will
also water plants, take care of pets, and do certain kinds of house- cleaning. For big
cleaning jobs, however, it's best to get in touch with “Disaster Masters,” another
New York City firm. They will take care of any kind of household mess, but
specialize in cleaning up after fires and floods. This includes, of course, restoring
damaged walls, floors, and furniture.

People with a communication problem might want to use Lipservice, a
California firm that provides “verbal proxy.” If you have something to say but can’t
say it for some reason, Lipservice will say it for you. The company’s staff can tell
someone off, or say “I love you” in eight languages and has done so for clients in
such places as Texas, Canada, England, and Australia. For offbeat entertainment,
people in California can contact a young professional whistler. He usually gives
concerts, but, for a fee, he will entertain at a private party by whistling the works of
classical composers. If popular music is more appropriate, the imaginative host can
hire the Human Jukebox. This man sits inside a large cardboard box. Then a coin is
dropped into the box, he pops out and plays the selected tune on a trumpet.

Disorganized people can go to a “time-management consultant” who will tell
them how to do more in less time, providing of course they take the advice. Insecure
dressers can ask a wardrobe engineer for advice on how to dress in order to project
their most favorable image, and daydreamers can liven up their existence by calling
Fantasy Fulfillment, a firm that makes fantasies come true. For $150 and up, things
like driving a race car, riding a camel, or living in a ghost town can be easily
realized. Last, but not least, a British consultant has started a “School of Thinking.”

Tl}is school helps you deal effectively with all the people who want to help out, fora
price.

79. Why do people need special kinds of services?
A) people get too hurried, have trouble communicating
B) people get too egoistic
C) people become too lazy
D) people get too weak
E) people get too selfish
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80. The company can tell “I love you” in ...
A) seven languages
B) eight languages
C) five languages
D) nine languages
E) six languages
81. Who may be invited for offbeat entertainment?
A) professional wrestler
B) professional whistler
C) professional weightlifter
D) professional conductor
E) professional singer
82. Where do disorganized people go?
A) a “time-entertainment clerk”
B) a “foreteller”
C) a “time-manual council”
D) a “time-management consultant”
E) a “psychiatrist”
83. What firm makes fantasies come true?
A) “Family Fulfillment”
B) “Fancy Fulfillment”
C) “Fairy Fulfilliment”
D) “Fantasy Fulfillment”
E) “Fantasy Fulment”
84, How much does it cost to invite the firm?
A) for $350 and up
B) for $200 and up
C) for $250 and up
D) for $100 and up
E) for $150 and up
85. What school helps to deal effectively with all the people who want to help out
for a price?
A) “School of Dreaming”
B) “School of Desiring”
C) “School of Supporting”
D) “School of Achieving”
E) “School of Thinking”
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Text

Read the text and find the right answers:

The World Wide Web (WWW, or Web for short) has taken over the Internet.
Indeed, for many people it is the Internet.

Originally, the Internet, and the WWW, was an altruistic environment. It was
made up mostly of academics and military types who created a community where
information was readily available. Everything was free of charge and no one would
have dreamed about trying to sell a product or their services. The only. restriction
you were likely to come across was a denial of access if you didn’t have a password
for sensitive information. But when the Net, and in particular the Web, became
popular all of that changed.

With so many ‘ordinary’ people starting to surf the Web as a pastime, it didn’t
take long for Big Business to see it as a new way of selling around the globe.
Simply by putting their products onto a computer they found that they can make
customers to shop at their leisure and buy their products without leaving their own
home. It also captured the imagination of educators as a way of getting quite
detailed information across to a large audience.

Before joining the World Wide Web you may have wondered what the word
“browser” meant. But it was the introduction of these browsers, used to navigate the
WWW, which took away the cold, dry collection of command that computers need
to speak to one another. So instead of having to type long commands and make a
choice from plain text menus, browsers which are programs themselves let you use
your mouse to link to any information. It is the arrival of browsers that opened the
Internet to everyone.

By simply lifting one finger (and pressing it down) we can get information on
any subject. And to access this information no technical understanding is needed.
What is more, we can access it when we want, at any time. There is no viewing
schedule for the Web,

The most obvious item required for access to the WWW is, of course, a

computer. The single most important piece of equipment for connection to the
WWW is Modem.

86. What does the abbreviation WWW mean?
A) Wide World Web.
B) Wide Web World.
C) Web World Wide,
D) Web Wide World.
E) World Wide Web.

87. How can we get info on any subject by?
A) Turning on the computer.
B) Simple lifting one finger.
C) By using the modem.
D) By using the switching off the computer.
E) Ringing up.

92



Bapnanr 4 Yrenne

88. What was the WWW originally made of?
A) Military types.
B) Educators.
C) Academics and military types.
D) Academics.
E) Educators and military types.
89. What was needed for accessing information?
A) A card.
B) A password.
C) A license.
D) A key.
E) A fee.
90. What captured the imagination of educators?
A) Software.
B) Modem.
C) Internet.
D) A mouse.
E) Monitor.
91. How did ‘ordinary’ people use the Web?
A) As a job.
B) As a way of getting money.
C) As a way of getting education.
D) As a profit.
E) As a pastime.
92. When can we access necessary information on the WWW?
A) At night time.
B) At restricted time.
C) During work time.
D) At day time.
E) At any time.
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Modern Sun Worshippers

People travel for a lot of reasons. Some tourists go to see battlefields or
religious shrines. Others are looking for culture, or simply want to have their picture
taken in front of famous places. But most European tourists are looking for a sunny
beach to lie on.*

Northern Europeans are willing to pay a lot of money and put up with a lot of
inconveniences for the sun because the have so little of it. Residents of cities like
London, Copenhagen, and Amsterdam spend a lot of their winter in the dark
because the days are so short, and much of the rest of the year in the rain. This is the
reason the Mediterranean has always attracted them. Every summer, more than 25
million people travel to Mediterranean resorts and beaches for their vacation. They
all come for the same reason: sun!

The huge crowds mean lot’s of money for the economies of Mediterranean
countries. Italy’s 30,000 hotels are booked solid every summer. And 13 million
people camp out on French beaches, parks, and roadsides. Spain’s long, sandy
coastline attracts more people than anywhere else. 37 million tourists visit yearly, or
one tourist for every person living in Spain.

But there are signs that the area is getting more tourists than it can handle. The
Mediterranean is already one of the most polluted seas on earth. And with increased
tourism, it’s getting worse. The French can’t figure out what to do with all the
garbage left by campers around St.Tropez. And in many places, swimming is
dangerous because of pollution.

None of this, however, is spoiling anyone’s fun. The Mediterranean gets more
popular every year with tourists. Obviously, they don’t go there for clean water and
solitude. They tolerate traffic jams and seem to like crowded beaches. They don’t
even mind the pollution. No matter how dirty the water is, the coastline still looks

beautiful. And as long as the sun shines, it’s still better than sitting in the cold rain
in Berlin, London, or Oslo.

93. According to the text. People don't travel:
A) to see shrines
B) to have their picture taken in front of famous places
C) to see battlefields
D) to work

E) to lie one a sunny beach

94. What is the biggest disadvantage in the Mediterranean sea?
A) killer-whales

B) pollution
C) sand

D) sea plants
E) crocodiles

94



Bapwant 4 YreHne

95. Why don’t tourists mind pollution and crowded beaches?
A) they have the same problems at home
B) they all come for the sun
C) they like to travel on a sailing ship
D) they all some to taste specific cuicine
E) they are offered special entertainments
96. What is the most polluted place in France?
A) Poole
B) St. Tropez
C) Luton
D) Paris
E) Mentone
97. What city besides Berlin and London is considered rainy?
A) Ohio
B) Ontario
C) Oxford
D) Ottawa
E) Oslo
98. What do tourists have to tolerate?
A) sunburns
B) high prices
C) traffic jams
D) local food
E) theft
99. What looks still beautiful...?
A) airport
B) the coastline
C) railway station
D) architecture
E) main road
100. In many places, swimming is dangerous....
A) because of ships
B) because of sharks
C) because of wind
D) because of pollution
E) because of fog
TECT 1O BJIOKY
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